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Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ Figdr &1 qlq H A UYgod fafa =t
EET ol &

1. Massed learning /'élé A W TS

2. Distributed learning / foafea fRrem

3. Serial memorization / T 1H® AT

4. Paired Associate learning / gﬁilﬁ H_E;ﬁlqﬂ W

Correct Answer :-

« Serial memorization / S TH® LA

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that AL

Hreamardt uReedr ' § Hoigd fayRal s1ad & f5
1. Language determines perception / HTST &Y 1 e #xcdt B

2. Language determines thought / Wﬁﬂ'l?ﬁﬁﬂﬁ:{ﬁaﬂ?ﬁ%l

3. Language influences memory / HTHT TRUT Tfad 1 THfad Eh_{?‘ﬁ%I
4, Language influences thought / Wﬁﬂﬁﬁqlﬁﬁm%l

Correct Answer :-

« Language determines thought / Wﬁﬁl?ﬁﬁ%ﬁﬁﬁm%l

3) An individual who is lacking in achievement motivation would exhibit J b AfrT

o IR STafl P HHi g I8 weRia
1. Self-assurance / S{TH-THT
2. Pessimism / ﬁwma’m
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3. Pragmatism / JdgRdlq
4. Positive outlook / GBRIH® VBT

Correct Answer :-

o Pessimism / fRT diq

4) Planning in inclusive education should be followed by ./ gHTAR Rrem A G Bt
& g1 uTer far s anfeul

1. Recapitulation / JR-h Y

2. Evaluation / Fcieh
3. Implementation / ST

4. Assessment / 3¢l

Correct Answer :-

« Implementation / AT

5) The RTE Act was enacted in the year: /\’!ﬂ?—(ﬂg Sffefraw e CLE: mﬁﬂﬂ T™T 4T:

1.2010
2. 2008
3.2011

4. 2009

Correct Answer :-
e« 2009

6) ‘Jack is a below average student in mathematics’. Which of the following tests would best support

he above statement?/aﬁﬂﬁﬁﬁwmﬁﬁ?wal 'ﬁaﬁﬁaﬁ'@faﬁﬁmuﬁmm
YT P Tl U Har 32

1. Intelligence test / §@ GRI&fur

2. Aptitude test / STHFRT TRI&OT

3. Achievement test / STl TRI&T0T

4. Skill based test/ IR SR TRT&T0T

Correct Answer :-

« Achievement test / SUGTT UII&ITT
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7) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for

which the dog naturally salivated?/ﬁ%ﬁqm%mmﬁ, a's'waﬁ?w U1
RTI®T ST 3T YIS $T 9uiF H=+ & e v wan o1 oRTes e o wanunfae «u
A ER CUBTAT UT?

1. Unconditioned response / %dl“-llf&cp a1;u'$r>q|
2. Neutral stimulus / 8] m
3. Unconditioned stimulus / STHTIA® Bélw

4. Conditioned stimulus / &fﬂaﬁlﬁ RELCH

Correct Answer :-

« Unconditioned stimulus / STHTIdeh (‘Eﬁw

8) How many pairs of source traits did Cattell identify in his theory of personality? /

Fed - U+ Afdad & Rigia o Tia agvr & fovaa g feame?
1. 16
2.32
3. 14

4.22

Correct Answer :-

9) Teacher eligibility test is an example of which type of test? / Rrere urmar Wiy fPu UeR &
URI&T0T T TP SGTeRVT 62

1. Aptitude / SR
2. Creativity /ﬁTﬂQﬂﬂ?ﬂ

3. Intelligence /Tgﬁ
4, Personality /Bﬁlﬁt}a_(ﬁ

Correct Answer :-

o Aptitude / ST

10) In a learning friendly environment, the following characteristics are present except

AT & TP I ardaRor |, %mﬁu&r@aﬁmw@mél
1. Learner autonomy / fRremeff &) @
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2. Multi-disciplinary approach / ag-ﬁm EEEIL
3. Teacher monitoring / fR1ere & TR
4, Flexible process / GEIIRIER

Correct Answer :-

« Teacher monitoring / fRr& & TR

11) In a language, the smallest unit that signifies meaning is called / Tt Hem ﬁ, 3 B

SR A JIA BICISPIs B BT Bl
1. Phoneme / T (1-1H)

2. Syntax / AT fo=amg (Rica)

3. Word / UIsG (T3)

4. Morpheme / S[0H (HTH )

Correct Answer :-

« Morpheme / eI (qTq'fﬁ:f)

12) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice?

/ FrafEad & A PH-T1 FUT BT A | ' 3Midd IR B a4 33T avg aivfd Hdr g2

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRrafer T

@ Uicfed T § iR el &1 3% dedi de ugan & o fawea qar gl

2. The teacher uses praise and appreciation of a child’s work. / fR1e/ o= & BT DI IR 3R U=
FRATGI

3. The teacher gives a short break to have snacks and water. / e/ r=an R U T & ﬁTQ Th BleT
EERCIE

4. The teacher provides rules and conditions to complete the task. / Rrerem ao‘rcfafrw A & o
3R et UG BT 3 |

Correct Answer :-

o The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRr&i W

DI UieIed ar ¢ SR Rienfia &t 37 @i ao ugeH & o e Tar gl

13) Which of the following is not a part of the process of memory? frafaf@a d @ ®= Wﬁf |
ufsrar &1 fovar 781 82

1. Storage / HSRUT
2. Retrieval / G: Pl15]
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3. Encoding / 3:|$—”§‘|
4. Motivation / ORUTT

Correct Answer :-

« Motivation / ORUT

14) Which part of memory involves forgetting unnecessary information in 15-25 seconds? / Wﬁf cg

5 U o 15-25 Ads W SMTIRAD AHBRI DI Y ST A 82
1. Long term memory / aﬁ-m?ﬂ:f Fﬂ’%

2. Sensory register / TG YO

3. Working memory / Ia Wfdl

4. Short term memory / Tg-ehTei I+ Ffd

Correct Answer :-

« Short term memory / @-Wl?ﬁ:[ Wﬁf

15) Infants develop stranger shyness by the age of ./ ﬁ'ﬁlj P IY dP SoHa A
e a1 zmi=n fae e #d §

1. Three months / GG '12|'5°I'3[
2. One year / Uh GL

3. Nine months / T‘ﬁ Il_tﬂef

4, Six months / ¥8 Il_sﬂef

Correct Answer :-

« Six months / 98 Il_aef

16) Deductive method proceeds from : / TS fafy SHUPR a?ﬁ %:
1. Examples to illustrations / 3GIgRUl I TPial &1 3R

2. Law and rules to observation / DT 3R ol & Sraais &t 3R

3. Specifications to generalisations / FHTAHR  fafFeRn & 3R

4. Observation to examples / {TAIH H IGIERUI B 3R

Correct Answer :-

« Law and rules to observation / DI 3‘?'? o O ergdi &t 3R
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17) What is the term used to describe the strong bond between a mother and her child? / 'Fﬁ’ Gﬁ?'

IS T & I Tolgd U BT qUH B P g b Xeg BT ITART a1 A1 82
1. Love / U (€19)

2. Security / GR&T (RTINS

3. Maternity / T (Hexfch)

4, Attachment / HHdI (&I%Ttlﬁ?)

Correct Answer :-

o Attachment / HHdI (Gl%ﬂfla

18) What type of intelligence would be used when trying to navigate through traffic? / %ﬁ’i_cﬁ "

Afdite H D IR HXd 9T fhd UBR B giex BT IuANT fbar wream?

1. Interpersonal intelligence / 3R 3 gfqdd g,@

2. Intrapersonal intelligence / 3R] 3 feTeh G?l i—q§°b dl
3. Spatial intelligence / TP @
4. Naturalistic intelligence /m §@

Correct Answer :-

« Spatial intelligence / RJIECY §@

19) Hereditary factors begin their influence right from the time of of the child./ 3'52117:111?‘[

PRT T P & UG U1 YU I B o
1. Development / famr
2. Growth/Q@

3. Conception / TYTeT
4, Early years / URAS Ty

Correct Answer :-

« Conception / T

20) According to Kohlberg, child may question the social and political beliefs of
the parents and elders in moral development stage. / aﬁgﬂmﬁ?

VR, ¥&,  Afae e avur & Arar-far ok 95 9 ariiie
3R Teife AraaTell W WaTe SoT aHar 2|
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1. Post-conventional / qf{'d—ql'éLJRﬁb

2. Formal conventional / G?WIEITW URUR®
3. Pre-conventional / Uj—W
4. Conventional / URUR®

Correct Answer :-

« Post-conventional /'«I-‘Q'Cl—qléqi\icb

21) How will you calculate average marks of students? / 30 SEN & 3f¥Te il
B AT B B2

1. Geometric mean/ fSRIACH A8
2. Variance/ YR

3. Standard deviation/ #TFP fa=gre
4. Arithmetic mean/ 3/eITIOId 3Nd

Correct Answer :-

. Arithmetic mean/ 31O 3 Ed

22) Generally, all classrooms will have diversity. Identify the dimension that does not present too many problems
related to diversity.

s R W, g werel # fafaear gt | 391 smam &t uga St 9gd oiftre fafauar @
i #% guErell @) Usgd Tl eRar gl

1. Cultural background/ Wm t[g@
2. Geographical status/ iifere fRufa

3. Social beliefs / IS HRIATY

4. Athletic ability/ 8 TNIATY

Correct Answer :-

» Geographical status/ e fRufa

23) Which of the following is a child's attribution to success? / ffaf@a & @ =@
THAdl & [T U 9= 3 fA=iuang g2

1. Consistent focus on Learning / SFNTH TR AR €474 higd B

2. Random focus on self / T4 TR &9 dhigd BT

Page- 7



3. Maintain worksheets and notes / HITES (dhie) 3R Alcy AT HAT

4. Believe in luck / YT TR fayrg &1

Correct Answer :-

« Consistent focus on Learning / S{fEATH TR @R 4T dhfed BT

24) CANCELLED

You are helping a mother to develop a behavioral program to deal with her son Raj who has
oppositional defiant disorder. Which of the following is the MOST significant component of this
program?

/ 3ITY T HI BT U I¢ I A Frueq & R U IagR sriepd fAafid s A AG R IL &,
gﬁﬁ&@hﬁﬁ%ﬁﬁ%ﬂ&ﬁ?%lmﬁ@aﬁﬁﬁqmwﬁﬁaﬂmm%@mﬁ
?

1. Strict parenting / 9% RN

2. Detention / A1

3. Positive reinforcement / b RTHP vl;l‘EG‘SnIGMUI
4, Punishment / oI

Correct Answer :-

» Positive reinforcement / HhRTHD ﬁ?ﬂm
25) CANCELLED

Which of the following is not part of the quantitative prerequisite for Continuous and Comprehensive

Evaluation? / ad Ud STU® Jedic & fag Fafafaa o s aemers yaiten o1 it a8 82
1. Classrooms / $&‘|TQ

2. Schools / fagITerd

3. Teachers / TRT&fH

4. Curriculum / UIGJsh H

Correct Answer :-

+ Curriculum / UlSIh H

26) CANCELLED

Constructivism assumes that all knowledge is: / Td-IdIq dg ATl % & Tt BIG| = %:
1. Constructed from the learner’s previous knowledge. / Rremif & Uja_rﬁﬁl:f 3 fAftfa

2. Constructed solely by the learner. / Rremif g1 Faa FfHa o
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3. Transmitted to the learners by the teacher. / fRrerem grRT Rigmeff o1 Uit
4. Acquired solely through personal experience. / feTd 3HJHd & H1egH 3§ had UTwd fopar gl

Correct Answer :-

« Constructed from the learner’s previous knowledge. / fRremeff & Wfﬂq 9 Fftfa

27) CANCELLED

may affect a child’s social development. / , T & gHHTO AT &t
TUTIRIT & AHar g

1. Asthma/ SI&JH]
2. Chronic Illness / gﬂ:ﬂ =l

3. Allergies/ QT“ITTW
4, Eating habits/@'lef P 3Med

Correct Answer :-

+ Chronic Illness / gﬂ:ﬂ CIGIR

28) As per Cognitive Constructivism, learning is a result of: / GITHTH® ITTAIG cg SR,
3iferTH et &1 g uRoma &:

1. Behavioral and Collaborative responses / ddgIR 3R {'ISH\I‘II(HOD Uﬁmﬁ

2. Assimilation and Accommodation of structures / GXTT BT TSI \?'ﬁT S{TA™
3. Extrinsic and Intrinsic reinforcement / STE<Y 3R TR WUT

4. Reward and Punishment of actions / cmioué DI YD R RS

Correct Answer :-

« Assimilation and Accommodation of structures / ST T TSI 3?]? S{Td

29) Which assessment measures student’s performance against a fixed set of

predetermined standards? / ﬁqquéﬁﬂfﬁﬁmﬂ'ﬁ%@ﬁf\%@?%ﬁw
BT P UG I AT 5?2

1. Norm-referenced assessment / W—Wmﬁ 3ha
2. Criterion-referenced assessment / ﬂl-’-lé@-“%iﬂﬁ-h 3Hiha-

3. Diagnostic assessment / 'R1C<|Ir'\10h 3{Th el

4. Achievement assessment/maﬂ 3Th

Correct Answer :-
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« Criterion-referenced assessment / A S-Taid sfipa

30) Radha asks her students to make their own questions and write their respective answers for
a chapter. A student in which stage of cognitive development benefits most from the implications

of this task? / TYT 9 3T DR |V I7% AT & T 3reard A Uy I 3R 39 Hafda
IR for@q & T &gt | U O, IS faer™ & fog @R # 59 & & FAfgard
I I 3t emuifaa giar 82

1. Sensory motor stage /ﬂ'ﬁﬂ Hiex a7

2. Concrete operational stage /ﬂﬁw SHART
3. Formal operational stage / NI TihaTHD TRIT
4. Preoperational stage /ij SR

Correct Answer :-

+ Formal operational stage / M TihaTdd 3ra=iT

Topic:- General Hindi (L1GH)

1) 320w afe "3rT B HeAr €, o) a8 R ve Ui el § vewfad il €, et = iR s
Sffra 8 ad | AT 3R U F A BT AT a1 AT 8T, I Aol BT RER Wy Wt 9ga T8 g, &t
SHW A 3reftdd fears &a &... TR, 7T, UgTs, US... 3w ¥ fihg o= sienfael ® 3 uer Sitda ufdsrar &t
R4, wmﬁmﬁw@wmméﬁ%nwwmmm%mﬁwm%ﬁm
SR 3 R e SUTRT BT UTaHT T T o, il g 1 Vg, 7R HPiof Srauron § agd
g 41? T URT BT HIS TAT BT 8, TET ITHRVT, TETHRA MR NRIIG HU13H & Ul T 31 3ra=
Site Bt srfar U H WeTa® ) gid? afe U ywis # iar gan sufd g " ud' § 34U g1 B
TefihuT T §, 9 g8 a8 HUT B Whdl 8, Sel Y $1 38 W Wpd & Wia-Rid Sifpd T8a g
URR B Fd §U IS SadT, 4] BT T Ha & BIS T, UgTe W Ted gu fbdlt TR arn & siadbur
Y yefg &, o W $en T@d 5T 5W U= Sitad-aran &1 did-arm & ufvora &2 aq g1

3rdta A 321 & Ul g HraeT o 3 F oft 3t o Hehdt R, wTet w-09 BT e Haiy Wepha R TRWRT
It WA A FST 4TI G aRSBIab o1 fhed 'FIRY 31 a1 ol 3, Srad uas ura giep= &1 7 3= v
i 3 ygH AT 7, SR 39 U # URp 0 & IR A W $B 301 ISR UHeE Hd ¢, 3 TP 3oig
TRE BT neaTde 39y Y gU §1 98 formd €1 "ue dus g1 & 4 g lt-wft erm 31 & wfa mes
SSIqTEe SR Hgdl HeHW gl § AP & WY WIHR Hgdl § 16 A el ff Fiaa 1R o= 31 iRt ok
I TEY TGO AE A € W A F sheT B el g shrer & uRvra A AEm, AR,
WY gl & g1l H feum AT wes gfRea & €, 3 3 e IR/T & IR #, AT 374 ox i s1 v
Qwuﬁmmmﬁﬁlé%ﬂ%,ﬁmﬁaﬁﬁ%mﬁa,eﬁwﬁaaﬁvﬁ%ﬁaﬁmmﬁmwﬁa@?ﬁm
TN, o ST AHE-THY W EY HIAHY & 1Y YRA-YA & Ui uwe 3t f

ST TR 61 TgHh? 1 TS T U= HT IR Ja13¢l

U: ARP A @1 fbed o1 U v i &Y foret v v gamar 82
1, Frafar- e

2. HINGIUTHR

3, RFAAZETR

4, GfRp
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Correct Answer :-

2) 3w afe "arre B geAT @, o) a8 Rih e Wt dwpla # yeafad g ], Sl e ok wghr
TP B TP | AT 3R U F T FT I1d 1 ST T, 37 Aeil PT RER Foef +f} 954 T8 8, S
TR A 3efdd s 3 §... URR, 7dY, UTS, US... oMU ® fhg orue siafae # 9 ue sftda ufasar &1
TRa, wmaﬁwﬁbﬁwmm@%%wwmwﬁm%sﬁmuﬁ%sﬁm
ST 3 Tf o i @I UG BI 5T o, it Y $ Hoger, iR HHiof sraeron § agd
Arg uT? T URT BT HIS VAT BT 8, BT ARV, HETHRT 3R GRS HUTh & Uelied 7 &Y 3a
siter Bt Srfart U H WeTa® el gid? UfS U YIS A Sitdl gl iRl Uo "&ud' § (U g1 BT
TIEHHROT BT ¢, < g 951 TUT &1 AHdT §, TTQT YA Bt &8 W Upid & V- 3ifdrd 354 2
TR B T U P T, e} &1 W Hd &) DS WA, e W 9¢d g¢ frlt dRifdres g &Y siabyr
U 1efE €, OF W $en wad g¢ &9 3= siig=-am &) Jid-arr & oo & aa B

it # =1 & Ul g8 | 3= o=t # oft A ST HP ! oY, ST SX1-0H BT M1 HaY WPl SR URURT
aﬁwﬁr@r@mlg@mﬁﬁm'ﬁwﬁman?ﬁ%,ﬁmﬁwmg%mﬁmw
1 @) ygH? AT §, 3R S° U # Ui =9 & IR U ©l $© 301 ISR YHe Hd ¢, d TP 3ol
W BT TeaAe 39y e gU 81 98 forad 81 'te dwd g1 & T g3t dlt-wft erm 3 & wfa med
SSITEE SR Hgdl HegW gl § AP & Wity W Hgal § o § frel off 3w R s a1 it ok
TN TS T TEWI A & TR A F SRITT P e g SIS § UNRUIG HRAT AT, S $4R 3,
A gdsTl & g1l # foar uTi” 2reg gfp & §, 31U o A IRMAT & IR H, A I7H qu HiF F1 7@
1 uThfer omamy feeTs &ar 8, s g Rdere, ft orfig o niieh #Y wraamt ufyeafra @ garg
T 2, SN IR AHT-THT TR MY WA F 1Y YRA-YH & ufa yee 31

SR TR D1 UgH 1 T T U BT Ik a13¢l

W=H: AR T8 b die & ufa arrefiaen 3 33 & 5w faam?
1. WSSt

2. SNTAHL

3. 9¥pfd

4. Tpfd

Correct Answer :-

3) 3N TS 3T B Uer 8, Y 98 i ve ¥ Wy A vewtaa gt ®, St | ok
ffArd 8 Td | AT IR U F A DI AT 9 AT IET, I Aol BT RER Ay f 9ga T8 7, St
HW F 3efidd f3@mg 3d B... TR, A, UeTs, US... 3muw # fbg oruq siawfeel § 9 uep sitda ufdrzrar o1
R4, waﬁﬁmﬁhmmmﬁ%%luﬁmmwﬂm%aﬂﬁuﬁwﬁr%ﬁm
IUHUI & ufe @mg 7 SRHfET aﬁmn?ﬂrm‘rmﬁmﬁﬁ P AR, 3R FIvf SraerRon § §ga
T UT? T YR ST IS THT BT §, SIET IATIU], HET RIS Sutsit & Wt AT &Y 3
Gﬁaqaﬁa{zhmmﬁﬁmqﬁaﬁ?uﬁwwﬁiﬂmgenm%w TUF' H 3T g BT
V&P FT 8, A T8 G861 WHA B THdT 8, T8 YN B &8 UR WIpid P W-wue 3ifpd 384 31
TRR B Fd §Y IS qad, T} BT W B &1 I W, U1 W Fgd gU bt dRrfdres amm &t st
U vefrg ¢, o W weu YT §U &9 Sl Sia-aran &Y df-arn & ufivura o7 aa g1

3rela o 31 F Ul T8 UTaT o S & off ST o Tpeil A, STeT -0 BT T8I Yay Tepfa 3R TR
Tt T A FT 4TI G aRSBIaD! @1 fived TR 31 a1 ol 2, oo ve ura g &1 u7 evA v
i 3t yga GATaT 7, SR 39 U # YA &0 & IR H W) $T U IR YHe Hd §, 3 T 3eid
WE T nAfd® 3V fore g &1 a8 forad €1 "ue a@® g1 & T g9 d-wft e 3w & ufa med
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SeraTge 3R HgaT Heqd il § Al § Wiy Wiy Fgar § [ & [t +ff Fiaa 1R sroem 3w freht ofi
I | T Taan AW A & 3 3 F R B et g e & uRvr s agm, AR,
A gdsil & gl # foam uTi" e gfte1 & g, o 37 e IRMT & aR 4§, AfeT 379 o wik w1 ve
1 i smamw feaTs 3ar 8, forad g6 fadeg, ft erfdg oik wiidh @t ute=g wiveaf~a gt g
T g, SN ST AHT-IHT TR MR WA &A1Y YRA-YA & ufd ywe 31 |

ST TR BT UePR -9 I T Y BT Ik Iar3¢l
T=: Yip & Weg [ N § 32

1. YRd

2. 9 fseq

3, ST

4. HeX IR

Correct Answer :-

. TRIMREAT

4) 0w afe "3 Y weAT B, ) 98 Rith v Vet wepfay A vewfad gl €, STel S 3R
SiaifRpd g OF | AT SR U F Y B 91 al AT 3G, 3 Aol BT R oy ft agd 8w g, S
SW W Ieiiad fGETg ad 8., TR, Y, TETS, US... MU H fobg oram sfawfaelf # 9 g siaa ufderar o1
ﬁw,wmﬁuﬁa@wmméﬁ%nwwmmm%muﬁm%ﬁm
SUHRIT P Uf TG A GRIUTRT BT TG BY o feaT, St AP $ VY, AR AHtof srauron § a5
AT 1?2 T YR BT B3 VAT BT 8, TGT ATV, HFTHRT SR GRS STt & i AT oY 3
Sfte Y srefan U # Here 61 g1 Afe T s H Siidn g3 ufe e U’ § U 811 BT
TI&TPRUT T 8, Y UE G861 WHA B Hebdll ©, ST51 YN B 46 TR WPl & W fo-wue 3ifbd 38d 31
TR ®I Fd §U PIS dadl, -T4] BT TRl B3d g1 B W4, USTS W g g fHi TR amn o1 siadb
Y Tefg &, o W $en T@d §U 59 3=t Sfgd-aman &1 didf-arm & ufvoa &2 aq g1

3l # 39 & ufer a8 WraAT 3y 3wt & oft I o1 Tl Y, T8t 3W-09 BT eI Wy TEpha R WRT
Tt T A FT 4TI G aRSBIaD 31 fved FIRe 31 a1 ol 8, Forad ve ur gip &1 7 3= v
i ) ugHR TG §, 3R S° U H UfRp =0 & IR T Wl $8 371 ISR YHe Fd ¢, d TP 3ol
WE BT s 399 fore g &1 ag fored €1 t{aﬁmaﬁ%qﬁgémﬂaﬂ’rmﬁw%uﬁﬂsﬁ
SgraTee 3R Hedl HeHd Sidl 8 A+ & WY WIHR Fedl § 1 § fbxit off Siaa uR o 37 fsdt o
20 | T Fea AW A S o 3% F R 3 Rt g e & uRora s angm, A $R R,
W gdeil & g1t F fam un1” R1eg Yfen=T & §, vt IxT 'HeR IRMAT & aR #, AT o o ufR w1 v
ﬁmmﬁwmﬁ@ﬁéﬂ%,ﬁmﬁgﬁﬁm,sﬁmﬁa&ﬁvﬁ%ﬁﬁmmﬁuﬁwﬁaeﬁﬁm
A 8, oI ST AHY-THY W EY HIEHIY & 91y YRA-YA & ufd ywe 3t i)

IUYT TR BT UgHR A1d T T YR BT I&R Ia1g¢|

T URA-Y¥ & Ui faderic, ff sridg s 71 &t wras f5ads a1y woe g3 82
1. TeX HIGAY

2. STHR TRl 4§

3, Y ¥

4, GgfAa T ™

Correct Answer :-

. TER HEFY
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5) U T "3HTAT B HeAT B, o a8 i ve Wit Iepfar A vewfaa &)t ], siet @ ok wfr
Sfifrd 8 TP | AT 3R UR] F Y F q1 a1 AT 6T, I el BT RAR Ay Y 954 T8 7,
S 3efidd f3Emg 3d B... TRR, A, UeTS, US... 3muw A fobg oy siaefeel § 9 gop sitda ufersrar 1
Ra, wwﬁwﬁhmmwéﬁ%lwwmmﬁm%mﬁﬁmﬁiﬁm
IUHION F iy Tma A SRR aﬁtmﬁmﬁmsﬁ Pt AR, 3R FHIvf raerRon | 954
g YT? T URT BT HI TAT BT €, TET THRT, TeT URIRIE Syt & et A &1 3
Wﬁaﬁwuﬁﬁmqﬁaﬁ?wﬁwwﬁvﬁm@nﬁw TS | 30 g BT

U HRr HXaT 8, O TE 981 WUT B APl 7, 9el YN I 28 W WP id & Wfa-RIa 3ifdpd ved T
TR B Tl §Y PIS o, TSI BT T DI 81 DIg W1, T6TS W I GU bl TIRTIOTD AT Y St
A vefig ¢, o W $ed YT §¢ &9 St Shad-arn &Y df-arn & aiura o7 aq g1

3rciia ® 371 F Ul a8 ura o &= F off ST o Tpelt A, ST 31-09 BT TR Wery APl SR TR
Pt WA A ST 4TI G aRS et o1 fbed TRy 31 a8 o<t ], forad te U yfRe &1 v oA Tt
i 3 ygsH GATET B, SR 39 U # YR &0 b IR A O $B U IR Ydhe HId &, 3 T 3oid
WE B eaare 399 g gu g1 98 foraa &1 wﬁwsﬁ%qﬁa@asmmﬂamﬁémawﬁrwﬂ
FeraTee SR FaT HeYH Tl ¢ ATH § ARIY WIHT Hedl § 16 | fedl ¥ Had U= u=1 2 fredt ik
I A T Taa A A o I F SR B et g e & uRrd S ang, S $aR R,
Y gdenl & g1l A foam An1” veg gfe & §, oA 31 'uew IRMT & ar ¥, Afe 374 v uid s1 v
AT tfife oA et 3 2, Rorrd 5 fawT, ot aRfie ok Y 8 e wReA R S g
Tl €, N SR AHT-IET TR MR WA & 1Y URA-YA & ufd uwe a1

SR TR BT UgHR -4 T T U BT I« Ia13¢l
UR: YT B 3§ W IXPpia & a4 Sifdrd g 32

1. Fid-RI

2. Vi Aigd

3. I VA
4. TEl-uda

Correct Answer :-

6) SO IS 31T FY gear 2, @) 98 R v R Tl # vewfad g1t ?, wief 0w ok wHfar
SifRpd €1 Wb | AW 3R U &b Hae P a1d o ST T, I ol BT WER Yoo WY 95 e 8, il
FW A 3refiad foamg & §... TR, 7dY, TS, US... 3muw # g eruq siafael #f 3 uep sitdd ufdsrar &1
TRa, wmﬁmﬁammmﬁﬁ%lﬁwmmm%mﬁwm%sﬂm
SUHIT P Fi TG IRIUTRT BT U BV o fa, St g $ Aeger, R AHtof sr@uron § g4
g 1?2 1 YR BT HIS VAT BT ¢, TG ARV, HETHRA SR GRS HUTH & Ui s &Y 30
Site=T Bt a1 U # TgTa el gla? afe TP YEs H Sfidl gan safed T "&us' § (U g1 BT
TAETERU T 7, I I8 T8] HHI T THdl 8, T51 YA B &5 T Wpid P Wio-wua 3ifdrd ¥8d 51
TR B! T T BIE a4, TS BT TN B 8 HIS W, T6TS W 9 g€ el TR arm Y sfadban
T vefig €, o9 W ®gH 3T §U & 3u=l Siiad-arn &Y df-arn & aiura &2 a g1

il # 31 & Uy T8 WTaAT 3y o=t # oft I o1 Tepedl Y, STET =1-U9 T e Y TEpha MR WRT
Tt T A FST 4TI G aRBIaD! o1 v 'R 31 a1 ol 2, orad ue ur g &1 7 e te
i 3t ygax GATET 7, SR 39 U ¥ Ui &0 & IR H O $T U IR YHe HId &, 9 T 3oid
TRE P AT e 399 Y gU 21 98 frmd €1 "Te das g1 & 0 g8 d-3t erm 3w & wfa med
SSIdTEe SR Hedl Heqy gl @ Afp & WY WIH Hgdl § 16 & fhat off Fiaa uR 3o &1 it ofi
I A T Taan A A & 3 3 F R 3 et g e & uRvr s argm, A SRR,
Y gaeil & g1l  foam o1 =reg gfRes & €, o 337 ‘Ao IR[T & aR #, AfpT 3 Iw wfm w1 uw
ﬁmw&fmmﬁﬁﬁéﬂ%ﬁmﬁgﬁﬁﬁﬁmsﬁaﬂﬁaaﬁwﬁzﬁaﬁmﬁuﬁwﬁamm
T g, i SR THY-HY W TN YIEHAY & 1Y YRA-Yf & ufd yae o A
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ST TR D1 TgHh? 1Y T T YR BT IR Ia15¢l

U: T Y@s | sitar gan afea Fafifae ® om 81 &1 uaeftesyor svar 82
1. T 3UHT

2. T fog

3. T 3TADR

4. TH TUH

Correct Answer :-

o T Udp

7) 0¥ A3 31T Y geAr 2, ) 98 Rib e R Wl # vewfad 1t @, siet 0w ok far
Sifrd g & | I SR U] & AU B 1d al 3T I8, 3 dioll BT e "ay t 9ga 76w 7, o
IW A erefiad @ & §... TR, 7dY, BT, US... 3muw # g erq siqefdel #f 3 uep sitad ufderar &t
Tﬁﬁ,@ﬁﬁmﬁaﬁﬁwmmaﬁ?lwwmmm%m&uﬁwﬁ%ﬁm
USRI & Uil TS A GRIUTRT BT U BY o feaT, St Y $ Weger, AR AHTof rauron § g
Arg >1? T YR BT HIS VAT BT 8, S| AR, HETHRA 3R GRS HUTei & el A &) 3=
Site B srfan ur # Herae 61 §1d? Afe U yWs | Siidn gan e U U’ § 30 g4 BT
UaefiHuT T 8, o g8 a8 WU & bl g, 58T YA DI 38 W Wepid » Wia-wa sifdrd T8a B
TR &I Zd §U IS ¢adl, TSI BT TRI HId g1 B W, USTS TR T&d g il TR amn ot siadb
9 wefg 8, O IR $oH T@d gU &9 v Sita-ar &) dtf-aen # ufvua &2 ad §1

3refta o =1 & wfar ag | 3= o=t # oft S S Hepell o, ST I=1-0H BT MR ey Wpla 3R URuRT
T T A FST 4TI I aRSBIGD! o1 fred 'R 31 a1 ot B, s ve ur gip= 71 7 oA v
i 3 ygdR ATET B, SR 39 U H UfRp T° & IR A W $B (U IR YHe B4 8, 9 Th 3ol
WE BT A AS 39 fore gu 1 98 forea 81 "te aus g1 & 9ra gg sifi-wft erm 3w & wfe ed
geaTee SR Fgdl HeUW Sidl § A & WY @ISR SodT § [ 8 fpwt +f SiAa 1R o 31 fpsdt ofiR
%W@qﬁma@nmﬁm%w%?mﬁwwmﬁmmm SR,

B gdeit & Tt § foam 4T ey s & €, orm 37 'HeR IRMAT F AR ), Afp 39 3% uiR w1 gH
Qmmmﬁ@ﬁ%ﬂ%ﬁmﬁsﬁ%ﬁasﬁwﬁa&ﬁvﬁsﬁaﬁwmwﬁamm
TN T, <Y ST THY-THT W RN HIGFAY F T1Y HRA-YH F Ul e B f|

ST TR DI TP 1 I T U= &1 Ik ga13¢l

TR: 3rtd # o= o Ui Tt HraT Fraferied vt | o <t S et ot 2
1. %ol gt

2. 3= Al

3. SR UGl

4, 39 G

Correct Answer :-

. e

8) MW IR "31e F} gear &, ) 98 Rk v N Wpfa & wewrfaa 21t R, &iet 0w ok far
STIRpd B TP | AT 3N U] F Y & 91 <l 3T Ve, 39 el oI WER G i} g T80 8, it
SW A eitdd fGETS &d 8-... TR, 741, TETS, US... 3MUw # fobg erum Sfawide # o g sitda ufderar &1
Tﬁﬁ,wmﬁmﬁiﬁﬁ%ﬁmméﬁ%lwwmwﬂm%mﬁuﬁm%sﬁm
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IUFBIUN & Ui TG A SRUTHT ﬁmﬁmﬁmﬁﬁ Bt AR, AR Jiof sgurRom § 5ga
T UT? T YRA ST IS THT BT §, ST IATIU], HET RIS Sutst & Wt AT & 3
Gﬁa?aﬁa{ﬂamvﬁﬁmqﬁsﬁ?uﬁwwﬁvﬁmganmw TUF' H 3T g BT
TIETPRT T 8, I T8 G861 WHA B TDdl 8, T8 YN B &8 TR WIpid $ Wfo-wue 3ifpd 38d 31
TRR P gd §T BIE Sadl, el T Wl &d & DI T, TETS W Fed §¢ fhait TR0 A= $ Siadun
9 Uglg g, o W ew v@d §U gW v Sita-aran &1 did-arm & ufvoa &% ad €1

3rdfta & =1 &l g Hrae oy i F oft 3t o et R, wret x-09 BT e’ Hay Wepha SR uRwRT
Tt Wi A FT 4TI g aRSBIaD @1 b TR 31 a1 el 2, forad ue ura g &1 7 evA v
i 3 yg@R AT 7, SR 39 U # IR 0 & IR H W) $B U IR YdHe Hd &, 3 TP 3oid
WE BT Mea® 399 e gU &1 98 formd &1 "te da® g1 & T g dt-wft erm 3w & wfa med
eraree SR Hgdl HeH gl 3 Afe & WY W HgaT § 1 F el ft e 1R s 31 it o
32 TEY TEe AEI A € o A F sheT Bt el g sfvera & uRvra e A, S SR R,
A gerell & Tl # faam o1 2reg UfRpT & g, Srum O3 AR IRMAT & IR H, AfeT ITH o wiH B
T i ST feaTs & 8, RoraH g faderig, it erfdg ofiR it &5t wrame wfaeafa gt g8
T, < SR AHE-THY W MEN HIEFY & 1Y YRA-YA & ufd ywe 3t A

ST TR D) USH 19 UD ¢ U= P Ik Jage|

US: U QWD DI Uh AWP & U | 30 S & U 1 Iggd gl 32
1. 3UR UH

2. SUR &I

3. YrTee SR Hdl
4. % i Tgl

Correct Answer :-

. ereEe SR Hedl

9) A TS '3TeT B weAT §, ) a8 Rt T ¥ Wil A vewrfaa gt @, St e ik
SjfRpd & b | AT 3R UY P GaY P a1 a1 e I, I el BT W o ot agd 16w g, s
FW T 3eiiad f&ETs 4 §... TRR, TSI, USTS, US... MU | fhg oM siawaet # 9 us Sitaa ufdzrar o1
ﬁw,wmﬁm%@wmmﬁﬁﬁlwwmwﬂm%muﬁwﬁ%ﬁ&m
SUHRTIT P Ul TS A GRIUTRT BT UG BY o4 f&aT, Sit Y $1 Voger, AR AH1of auron § a5
i 4T? T URT BT HI5 THT BT 8, STET IRV, TETHRG R WRIVIE HU13H & Wi I Hi 3/
Site Bt Srfar U H WeTad 61 gid? Afe U ys H Siidr gt sufdt Ueb "&ud’ § 30U g4 BT
TaefiH T HeT 8, df g8 T8l WUT B bl 8, ST YA DI 38 W Wpld & ia-wia siferd Tgd B
TR Bl §d §U IS dadl, T4 BT TRl BId g1 BIg W, UgTS W g g fit TRifvres aman ot siadbur
9 vefg §, O IR $ou @ §U &9 3ru=i Shta-arn &) dif-amn # ufvoa o2 aa €1

3refia & &9 & ufer a8 WraAT oy ot # off I o Tl i), STET Sw-04 BT e Wy Tepha R WWRT
Pt T A ST 4TI T dRP ot @1 fibed 'R 3t a1g ol ], orad ter a1 yfe &1 v oA w6
i o) ugHR TG §, 3R 39 U ¥ Ufp TF & IR H ol $8 371 ISR YHe Hd &, d TP 3ol
WRE BT TeaAe 30y Y gU §1 98 foad &1 "te dud g1 & 9 g dlt-wft ervm 3w & ufa med
e SR Hgdl HeH gl § AP & WY WIHR Hgdl § 16 J el off Fiaa R o= 31 it oiik
mawmmmamm%mﬁwmmﬁmmm SR,
A gdsll & gl # faar uTi" 2 g & 8, orum 3 e IR & an #, dfe 399 ou Wik 1 @
a1 wifife smare fears 3ar B, s 8 Rderig, it erfie ik it &t et ufdeafa @1t g
TN B, & SR AHE-THT W RN HIERIY & 1Y YRA-YA & ufd uwe 3t f)

I TR DI USHT i1 IS T U= $T IR qag¢|
U=: U A fhdt ¢%1 & ded 3T+ 3= I T Tg1 BT I18dr?
1, YR HIAT
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2. -l

3. Yol
4, e

Correct Answer :-

10) IO TFE 31T P T , ) 98 Rith v Ui Tl A wewifad gt €, STel W ok whr
SeifApd g1 Wb | A 3R U &b Hae B aTa af ST T, I Jleil BT WER Gae WY 95 e g, &l
SR ¥ 3oitdd GETE 4d §e.. TR, T, TETS, US... MU H by 3o Sieriqell ¥ o ¢ Sitda uferar 1
ﬁw,wmﬁmﬁwmmmaﬁ%lwwmmm%muﬁuﬁ%ﬁm
USRI P Ui TG A GRIUTRT BT U1 B o foaT, St A A Aeger, AR AHIo aUron | 95
g 41? T URT BT HIS TAT BT 8, STET IRV, HETHRA 3R NRIIS HU1eh & Ul g« 31 3ra=
Sita B srefan U H HeTS 1 g1d? AfS U s H ST gan sufe e U’ § U §14 BT
TaefihRuT ST 8, Y U8 T8 HUT B Whdl 8, Sl YA $1 38 W Ipa & Wia-wid Sifpd T8a g
TRR B Td §Y DTS 39T, T4 BT T B € IS W, TSTS W g8 g¢ et URIiores am @t siadban
¥ yehg €, M R sew vad gu &9 vt shaa-arn &t did-arn & aiora @3 ad g1

rdfia A 39 & ufer a8 WraAT o= Sl # oft 3t o1 Hepedl Y, STeT -0 BT eI WY HEpha MR WWRT
Pt T A ST 4TI G2 dRP ot 91 fbed TRz 9t arg ol B, forad ter um yfte &1 v svA Tt
i 3 ygwR AT B, SR 39 U ¥ UfRp-1 &0 & IR H W) $B 37 IR Ydhe HId 8, 3 T 3oid
WE T AATAS I for gU &1 98 forea €1 "Ue au® g1 & e gg dl-waft e 3w & ufey med
gsIeTge 3R AT HEHH gl © i # ANIY WD Dol & b A fodl I HIad IR 30T 3 fobeht ok
%ﬁﬁmmlqamwﬁmﬁwwmﬁuﬁvmmm S AR A,
Y el & g1l ¥ four 11" *1eg YfRe & &, o1 31 'HeR IR[AT & 9R §, AfpT 37 I Hiws o1 v
ﬁmmﬁﬁmm%m%ﬁmﬁaﬁﬁaﬁmsﬁwﬁaaﬁwﬁeﬁaﬁmﬁuﬁwﬁaﬁﬂm
Tt 8, N IR A= WR MR UEHY F JY URA-Y & ufd ywe 31 ff

ST TR $I UgHR A4 [ T U= &1 I« Ia13¢|
U A & forg =i T 72

1. SITHT D1 Tl

2. GrHISTh Tl

3. R[SFITde geT

4. VMferes gde

Correct Answer :-

. 3H P e

11) 3= TfS 3T BT TeAT §, a 98 Rnb v Wi Ivpla A ucwfaa gidt 8, wiel '« 3w i
SIRP 8 TP | T 3R U] F Y BI I Y 3T Tal, I el BT RER Fae 1t agd e 8, =it
SR I 3efdd fears 3 §... TR, 74, UTS, US... oMU ® fhg o siaxfael #  ue Sftaa ufasar &1
M, Wmaﬁmﬁﬁﬂmmmﬁﬁélwwmwﬂm%mﬁmuﬁ%ﬁm
SUBRU & Y TG 3 GRUIRT BT UTaHT BT S+ &, Wil Y B HoYer, SR FHI0f SqeRon | g
Arg 41? T YRS BT BIS THT BT 8, STl IHRV, HTHRT 3R TRIIG HU13 & Ui 7o H1 3=
Sita @t e u H Herae e §1d? Afe U YIS H Sl g3l sufert T "wUS' § U g BT
TS BRI BT ¢, <t g B! AHT g1 AHdT §, TTeT YA it &8 W Upid & Wfd-Ra ifvd 354 g
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TR B Fd §U BN 3adT, T BT W B € IS T, UeTS W e gU fadt dierfdres amn @t siadban
9 vefug €, o9 W ®gH 3T §¢ & U=l shiad-arn &Y df-arm # aiura &2 aa §1

3l # 3 & Ul T8 WTaAT 3 o=t & oft I o1 Tepeil fY, TRt -9 BT TR Y TPl 3R WWRT
Tt A FST 4TI G aRBID! o1 v 'R 31 a1 ol 2, Sorad ua ur gie &1 7 om T
i 3t ygs GATaT B, SR 39 U H YiRp< &0 & IR § W) $© (U IR Ydhe Hd §, 9 T 3ol
WE FT SeATA® I fore gu &1 98 foraa &1 wﬁamﬁﬁ%ﬁa@mﬂmﬂmﬁ%m%uﬁnaﬁ
SISIdTee SR Hedl Heqy gl @ Qe & WY [T Fgdl § 16 & et off afiaa 1R aroem &=t it ofiR
I | T Faan AW A & 3o 3 F R 3 et g e & uRvr s agm, A $R R,
Y gl & g1l  faam Ami” 2eg gfe & €, oM 3w e IRMT & aR #, Afe 3 S uiR F1ue
Qmuﬁmﬁﬁﬁ%ﬂ%ﬁmﬁaﬁﬁﬁwﬁasﬁmﬁa@wﬁ%ﬁaﬁmﬁuﬁaﬁasﬁm
Tt €, SN IR THT-IHT TR MR WA F T URA-YA & ufd uwe 31 |

ST TR DI UGHR -1 T T YA BT I&R Ia1s¢l
UI: AEP B ARDIaD! it {Ha frer o1 arg ot 2

1. RIS UTh
2. fiIRR

3. g feu
4. SR FA ¢ b

Correct Answer :-

12) XMWY IfS 'STHT B geAT §, df a8 R te Wi dpia & ucafaa gidt 8, 98T & ik =y
fflrd 8 ad | A IR U F A BT qT9 d AT gL, 37 Aoil BT RER A9y ft 9ga g g, St
SW H Ieiiad fGETE 4d 8. T, Y, TETS, US... MU H fobg orom sfawfdelf # 9 g siaa ufderar o1
ﬁw,wmaﬁmﬁiﬁ%ﬁmmma%%‘mammmm%muﬁwﬁ%ﬁm
SUHRIT P Uf TG A GIURT BT TG BT o feaT, St Y $ Vger, R Aptof srauron & g5
R 41? T URT BT BIS THT BT 8, STl IHAVI, HETHR 3R TRIIG HUT13i & Ui U Hi 3
Sfte Y srefan U # Here 61 gl Afe T s H Siian gan sufe e U’ § U 811 BT
TI&THRT T 8, Y UG G861 WHA B Hebdll 8, T8 1 YN D 46 TR WPl & Wfa-2ue 3ifbd v8d 31
TR Bt gd g IS aadl, A1 BT TRl Hd § BIs Wi, UgTS W ga §U el TRIfOres arn &t siadbyr
Y wefg &, oM W Fen 7@ §U 50 o=t Sfa-aman &1 didf-arm & ufvoa &2 aq €1

31l § =1 & Uiy Tg T 3y =M F oft I 51 Wbl A, Wt A=1-UH BT ERT Ty WP SR ULWRT
Tt AT A FST 4TI G aRSBIaDt 31 v TRe 31 a1 ol 2, orad ve ur gip &1 u7 3- v
i 3 ygs ATaT 7, 3R 39 U # IR &9 b IR H W) $T 371 IR Yhe B34 8, 9 Th 3oid
WE &1 AAfde 39V fore gU &1 a8 forad €1 "ue d@® 11 & 9 g9 dl-wft e 3w & ufa medt
Foaee SR Hgdl HEH gl § AP & WY W HgaT § (& F et ff Fiaa R so=m 31 it ok
%wﬁﬁammmﬁﬁ%m%gﬁsmaﬁ%&ﬁ@gﬁmﬁmmm S EAR A,
R gdurl & g1l F far un1” 2reg YR & €, 3rva 327 'HeR IRMAT & IR §, Afp I 3= Wik #1 1
ﬁmuﬁwamﬁ@iam%,ﬁmﬁsﬁﬁﬁm,sﬁsﬂﬁa&ﬁ?ﬁ%ﬁﬁmmﬁuﬁwﬁa@?ﬁm
T B, < ST AHE-THY W RN HIEY & 1Y YRA-YA & ufd ywe 3t f)

SUYT TR BT UgHhR A4 T Y YR BT I& Ia1g¢]

T AT, FETHRG 3R GRS HUTS & Uil 1 UH | Tg1d gid 82
1, SitaH @7 refa

2. 3Tffe ToTaRT

3. ARG

Page- 17



4, G+ &1 A

Correct Answer :-

. Sffgq Pt 3rfawr

13) W IS '3TeAT B HeAT §, <t 78 R v T wepfa # yewfad il €, Stet = v ey
Sfifrd &) TP | AT 3R U F Y FT q1d a1 AT 6T, I Aol BT RAR Ay Y 954 T 7, S
S A 3refidd 3@rg 3d 3... TR, A, UeTS, US... 3muw A fobg oy siawfeel § 9 uep sitda ufarsrar o1
MR, Wwﬁuﬁﬁﬁﬂmméﬁ%lwwmmﬁﬂm%mﬁuﬁm%ﬁm
IUFHION F Uiy wma A SRR ﬁmmﬁ\-ﬁrﬁ.msﬁ P AR, 3R JHIvf sraerRon § 954
g YT? T YRS BT HI TAT BT €, TET THRT, TeT URIIS Syt & Ueltds AT &) 31uq
Wﬁaﬁwmﬁﬁmqﬁaﬁ?wﬁwﬂ@sﬁsﬂm@nwﬁaw TUS' § U §A BT

T dRor HXaT 8, O TE 981 WU B APl 7, 5Iel YT P 28 W WEpid & Wfa-Ia 3ifdpd veq T
TR B Fd §U BIS oadT, Ta! BT W 6 81 PI3 FId, T8TS W ded §U felt TIR1fOres amm &t sfasban
A vefrg ¢, o W wgd YT §U 9 Sl Siaa-arn &Y df-arn # uivura &% aq g1

31l B =1 & Uiy g yraAT oy o= # oft A o It fY, SRt A=T-U T TeRT WaY TEph o TRt
Tt AT A FST 4TI I ARSI &1 fihed IR 3t a1 ol 7, rad ua ur g &1 7 o= T
7 @) uge GATaT B, 3R 35U U # Ui =1 & IR W Wl 9 U1 IR UHe I 8, A TP 3ol
e BT eaTe IV Y gU &1 98 ford &1 "ue dEs g1 & Tra g3t d-woft erm 3w & ufa med
geraree 3R FgaT HeYd Sl 8 Al § Wiy WIas Feal § (& A feut ff Fua 1R oo 37 freh ok
I A T Taa A T 3 I F SR B et geR sfera & ulkvrg S argm, S $aR A,
HY gdsll & g1l # faar un1” wreg g & €, 3 o= AeR IRMAT & aR H, dfeT I7H 39 uidk #1
T wnfife smary s &1 B, R 59 fderig, ff orfie ok it 35t wrad wireafa 7 g
0 €, N SR AHT-IE TR MY WEY & 1Y YRA-YA & ufd ywe a1

ITYE TR BT UG 1 TS T U HT IR a13¢l

T=: QR Uit weepfa | uewfad gt @ et fafafea i siatftea &t 2
1. A% AR g

2. HA-Alied

3. W9 iR Wi

4. Iudad it
Correct Answer :-

. W SR Wi

14) I IR 31T P geAT B, 9 98 Rith v Ul Tl # veafaa gl ©, wiet i ok i
SraifApd g Od | g SR U P AU B 1 al AT I, 3 Aol BTy "oy ot 9ga e §l, W
S A Ifeiiad fGarg 3d 8... TR, Td, TeTS, Us... 310w # g orua sfafael # & T sitda ufeerar &1
ﬁw,@mﬁmﬁwmm%ﬁﬁlwwmmm%muﬁm%ﬁm
SUHRIT & FfY I A GRIUTRT BT TG BT 5T fa, St 1Y B A, 3R Faiuf SraUrRom A Igd
g Y1? T URT BT HIS THT BT 8, STET IRV, HETHRA 3R RIS HU13i & vl g Hi 3=
Sias 3t srfawn UM # g T8l gid? IS UF TS ¥ Siiar gl JAfad U 'FUP' | U g BT
TAEHHRUT HRAT &, Y I8 981 HYG B HHdT 8, T8l T $I 48 W Wpid & Wi-wIa 3ifdrd 75d 7
TR ®I Fd §U IS dadl, -Td] BT TRl B3d g1 B3 Wi, UgTs W g g 5l TR amn ot siadbyr
T UelE €, ﬁiﬁwmwﬁgqanmaﬂaqwﬁ?ﬁﬁmﬁuﬁvmméﬁ%l

3rfia A =1 & ufer a8 HraHT 3= o= # oft o S Al o, Sl T=-0H BT TR ey Wepla R URURT
Pt T A ST 4TI I aRP ot 91 fbed TRz 91 a1g ot ], orad ter um yfe &1 v 3oA Tt

Page- 18



i 3 ygH: GATET B, 3R 39 UF H UfRp &0 & IR A W $O 3(UA IR UHE B &, 9 TP 3ol
TR BT TeATAS 39V Y gU &1 98 forad &1 "te dusd g1 & 94 g dt-wft erm 331 & ufa med
Yoree SR Hgal TegH Bidt § b # Wity Wi B § b # Rt off wiwra o= o 321 et o
21 A T Sea Ag 7 g oA I F 3faer Fi fheht g sfaer ® ufurg s agm, S SER |,
A gdsl & g1l # foum uT1” 2reg YiRe & ¢, 30 o AR IRMAT F 9N H, A 376 qu wida s1 7@
T wnfife smare fiwars 31 B, Rrad 8 e, A orfig sk it &t wrard wfereafa @1t g
T, S I IHT-THE TR MR WA $ 1Y YRA-Yf & ufa yee o1 o

ST TRl BT UgHh A IS T U &1 Ik 9a13¢1
TR: SR A F1 fa@rs & aretr Tl BT Hee IR TR 812
1. SIHAd

2. gTurdd

3, ThUTIOT

4, 3MTefiad

Correct Answer :-

15) TN IS '3TAT B HeAT §, ot 98 R v Y wwopfal # yewifad gt €, Siel | 3R &y
SfifRra 8 Td | IS 3R U F Y BT a1 a1 ST Tk, 37 Aol BT RAR Jay W 954 T8 7, S
SR Iefiad i@ 39 §... IR, 74, UeTs, US... 3muw # fhg o siafael # 9 ue Sitdd ufdsrar &1
Ra, wmﬁuﬁﬁmmwéﬁélwwmwﬂm%WWuﬁ%ﬁm
IUFHIUN F Uiy T A SRR rf?r"—maﬁvﬁrﬁmﬁﬁ P AR, 3R FHIvf raeyrRon | 954
R Y12 a1 YRT BT DS VAT BT 8, 81 I, HgT URIOTS HUTsht & Ul AT &) 3
Wﬁaﬁwmﬁﬁwﬂﬁﬁﬁ?uﬁwmﬁvﬂmgmaﬁﬁw =S H 3T g BT

T dRr HedT 8, O IE 981 WYT B Pl 7, 5ET YT P 28 W W&pid & Wia-RId 3ifhd ved T
TRR P T 5T BIE 3adT, T &7 W A & B3 WA, UeTS W F¢d g€ [l R amn 3t siabur
W vefig €, o W ®eH Y9 §¢ &9 SuHl Shia-arn &Y df-arn & aiue o2 aq g1

3yl B =1 F Ul a8 yTaAT oy IR F oft A o1 Tt fY, SRt S=T- BT TERT WY Bl R Rt
aﬁwﬁr@r@rwlg@ranﬁawﬁaﬁfﬁmr'ﬁwaﬂmam%,ﬁ‘mﬁwuﬁg@ﬂmﬂmw
i 3 ygs AT B, MR 39 U # IR 0 & IR A O $B (U1 IR Yhe Hd &, 3 T 3ol
mﬁmwﬁmmm@%lﬁm%l 'TH A@D g & A1 ot FW-FW s+ o= & ufa el
SigaTee 3R Hgdl Heqd Bl & Afh & "ty W Hedl § 1o § forxt off Siaa uR o 37 fosdt ok
I A T Toa A A Y 3 I F SR B et g s & uRkvrd S arEm, R SR A,
A gdsll & g1l # fear U1 2reg g & §, 31U o3 A6 IRMAT & aR #H, dfe 377 Su ik w1 v
T utfifes amar fewars 3ar 8, Fored g9 e, ot orfie ok 7l o Hraemt ufeafa Bt goms
A €, SN SR - WR MR WA & 1Y YRA-YA & ufa ywe a1 ff|

IR TR BT UgHhR -1 TR T YR BT I« Ia13¢l

T: URR, 7141, UETS, TS 3o Siafdel & Fr g0 % A 82
1, U1 Hagr

2. HIH®B AGT

3. 5o Wi e

4, e ge

Correct Answer :-
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16)

EREICREERIC |

RIS & 7@ & T4 Wb

T 3R Tl Y& AT g

e ¢ 1T & R e

Giorar § ardear diud &1 0s
WISl § @8T §oM TR

3R ot o1 ETeft gt et & e
LRI

5= gt AT a1E fo= 1 T 9t Wi & WIesd &1
HR T gt
IRAR IR T RAD

TASATE

T g1 TR 3T SHABTAT
TN FB T

A $O IS @I 3

g1 Wi BT {4 Td)

T 8 o & it us ot 3 g

S qI BT I UaSIS B AT §

I SRITRG ST T UTGH &t AleT §

34 I5 IUTY fop TR GeaTel Wewersit
3R gt

FT TG B AR

TG 959 HH ¢ g U

3T TAT UT-T BT 31T BT 3BT

MG YR A BIS U6dHT SR U ¢ X
fou 1T veriw &) ygwR R U 9 91d URA o1 IR Ja1st|
TR B OR TP TR NS a1 41 IR oM +1 5w avg gaan 82
1. YSRIT g3l

2. HChdl ol

3. GDHHDBIT gl

Page- 20



4, I g3

Correct Answer :-

17) 39 ¢ §9d 3aTd H

oIg1 A 9 T8 § TA-T4 "1

T SR T YA ST E

e § o € qRiA frm

FIordT § drehar fiud &1 U8

Qo § 681 g3 W

3R ST BT FTelt ghST o8l | a1
ST AT TR

5= &) T a1g AT 31 a1l dle & Wiesd &1
TR YT SHHfeTEr

IRAN IR TEF WIS

qA AR

T Gl TR 3T SHHBTAT

U5l A $ T @]

I PO I Y| 7

g1 Wi BT HIET T

T g fae & Wit us Wi § ghvan

Y T DT AT UGS DI AT §

T ARG BT 7T HISH DI AT §

39 Y51 IUTY b B aaret Wewersn

3R gt

T 981 § 91 W2

Y 9gd $H & TER I

3T IaT 9T ST 3T 6T 3P

TS THR & IS gl SR 9 3G H

3T T EiY ) e R IR 9H aTd U $1 S 9a1sg]
U=: 3T IAT UTHT S8 3T V8T PRI’ &b PRI Hid FT WG Hdl 82
1. FTH I P 7

2. MG JHR O BIs UM SR I GhHR
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3. PIS AU W TP AT §
4, PN RATRSS

Correct Answer :-

. YRE YHR A DIs TSI SR J TGH

18) 9 T¢I gONP &

oIE1 AW & Te § T9-74 HebT

T SRR TRAT Y& ST §

e § S § R e

GiordT § drehar fiud &1 0s
WIoTdT § ¢8T g3 W

3R i F1 @l gaeT el | ad
T AT HR

5= G 7T a1g AT 37 9Tl dile & Wied &1
W YT gHHfT

IRAR IR TE WIS

qAGAT R

1 &1 TR T SHHBTAT

TG A PO AT

AT PO UC @&

Tg1 T o1 R e

T § fa & Wl ug Wi & ghhan

S 9 DI T UGS DI AT §

S ARG BT 74T HTel B AT §

39 gg1 IUT foh X qeare Wewensit

3 got

FIT UG § AV ER?

[T 984 H4 & TR T

SIT T UTIT &7 3T X§T 3BT

MG PR o BIS UMl SHUR I @ B

3T T vzt @1 vewk R U@ WM a1 U=A $T1 S« gaistl
WR: IR BT T Ui’ 3R TR BT 19T UTSH BT dler I o1 fHyr 32
1, F41E B e
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2. TR &TE dre

3. qETaR &1 WRINT

4, T & dleT

Correct Answer :-

- HEHI aTQ de

19) 9 ¢ IHd ST |

SIET IS T X5 § -1 WpT

T SR IR Y& AT §

o ¢ T € R e

Fiorar § ardar fiud #10s
Wl § ¢8T oM TR

3R it 1 wTeft gpeT wiet | a1

g ATgH

5= &1 7 a1g fomT 31 a1t |l & Wies &1
TR YT SHHTTAT

IRARWIRTFRAY

T AT E

T GY TR 3 SHHBTAT

TR A FB T

A FO IS @I 8

T Wi T R4 gl

T 81 o % gt us ot @ gfvan

S T BT I UdSTS Bl del g

S ARG BT TIT UTSH B AT §

39 TEt IUTY b T GRaTel Wewersit
3R gt

FITIE 8 1 IR?

TG 959 HH & TN U

3T T T €T 31T T7T ST

MG HR A HIS UgaH SR I 36 I
fau 1T veriwr @) vgw A U 9 91d URA &1 Ik Jaist|
URH: Hfd & Afkrss § oY RE =1 & 39% 1Y 1 giar 32
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1. 3 IAIHAE B

2. 3 YT

3. d XA US U
4. 3@

Correct Answer :-

. JURATS WA

20) 9 ¢ 99 gaTH H

TR1 U & 7@ & 1T Wb

T SR IRT Y& ST §

efRaT & SfTd € e e

Wierdr § arear fiud 1 s
GIeTell § 381§ TR

3R ST &1 ETelt garsT Wel & 91

g AT

5= gt 7 a1¢ fo= 1 T At Wi & Wied a1
T YT gHATTm

IRARINR@RAS

TASAE

1 g1 TR AT SHABTAT

TR AT FTTTW@I

AT PO I

g1 wfa &1 W T

T &l ot & gRreit s Sirelt @ g

S T BT T UGS Bl Al §

Y ARG HT T UIG| B AT §

39 I5 UM % TR Geare wewersi
3R gt

FIT TG & I ER?

HHY 9gd HH § g U

3T TS UT-1 8T 31T BT (b1

MG IHR A DTS TgaH SR I 38
3T T veriwr &1 ugd A U@ 9 91d URA &1 IR Faist|
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T: Hid TP TR I a1 &1 R 311 i 9 gl 2
1. 3 I AT STl
2. TN A HIS 7Y
3. d H1 faUR dd ST §
4. B1d LI TR D1 Tl ¢ Ul
Correct Answer :-
21) §9 ¢ 90d gaTh o
g1 A & 7@ © T4 Wb
T IR AT Y& ST §
¢ET ¢ 9T § g AR
FieldT § aredl fiud 1S
ST § 861§ TR
3R ot o1 @Teft gaeT oTeT | a1
ESRIRIEE
5 g1 Ao a1g fo= 1 [T a1dt 18 & Bied Bl
TR YT SHHTTAT
IRARIRTEFRAD
TAGAE
TG TR AT SHAPIAT
TEI A9 P TS
AT PO UE @8
gl Wi &1 W T8
T g 7 § et ws ol B g
T T BT I IASS Bl AT §
Y ARG BT 7T YIS B AT R
319 ) IUTY b &R GRaTT @ewersi
3R got
RITIE! 8 a1 OR2
TAY 9gd B9 & TR U
3T Il UT-i1 SBT 31T TET ST
UGS TR A IS UM HUR J 3 FT
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3T T Uiz @t vew Y U@ 9 a1at WA &1 IR a1l

U Hfaar & HIH-$H § RA = &1 I forar mar g2
1. $ad UUd 1 US

2. ad lg I forT Traredt 71

3. Hdd g8l g3l ThTH

4. Iugad it

Correct Answer :-

. SWa Tt

22) $9 ¢ 99 gATH |

8T IS T Xe © TI-Td WpTT

# SR AT Y& ST §

o § o1 & R e

Hierar § areal fiud #10s
IS § T81 g3 W

3R Tt F1 ETeft g ST 18T § AT
e uT g

5= gt I a1E 31T 7 At Wie & Wied &l
R YT g
IMARIR TG READ

TAGATR

1 g1 TR AT SHABTAT

5 I g T @I

RV O UE /T &

g1 wfa &1 W =

T gt fort & Rt v oielt @ g
T T BT I IAHS Bl AT |
Y ARG FT IRT US| i AT §
319 I U fob B AT WeEeT3il
3R gt

FTIE § AT

Y 954 HH & G U

3T T T ST 31T TET SPTH
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TG IHR A IS UM HUX d ¢ BT

T 7T veriwr #1 yeHR R U WM 91d U= 61 IR Ja1st|

UST: B A 59 Sfaar & qHy 1 U BT 3R R 3RT fHar 82
1, SIS & U H

2. STedl IR A fie SR O TRE g

3. U5 AR fob ST bR 7T

4. TR Yd S & BRI

Correct Answer :-

. Tl WA IR AT I g d

23) 39 ¢ 99d gaTh o

IR1 AW & Te & T4-Td Wb

T IR T Y ST §

eRaT ¢ ¥ITd & R e

WIoldT § aredl Jiud &1 Us
TSI § 861 g TR

3R S 1 @Telt gHST o8l | ATl
g AR

5 &1 7o a1g foe T &1 a1d 18 & Wied 3T
TR YT gPHHTI
IRAR NG RIS

JASATE

T ) TR T SHHABTAT
TRIAT FT @I &

RV PO U I §

TET Wi o1 R T

T §1 o1 A qrreit o oirelt § giea
S TH BT T IS DI el §
SR SRIRG T T YIS Pl AT
319 g U fob B AT Wewersil
3R got

FIT TG AR

YUY 950 9 & TR U
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3T AT UT ST 31T BT Db

MG TR A BIS TN SR I 3 X

3T 1T vEriwr &1 veH R U@ 9 91d U= &1 IR Faist|
WIH: ¢ SR SATP | BIa TRAT B Y&l 1T 82

1. Fifh R UgaH fife T

2. Td T Y ST B

3. HI TR A TR

4, Hfd B =y g g1

Correct Answer :-

. TP R ugaH fire TR

24) 39 ¢ SHd 3T A

TR1 U & T & 1T Wb

T IR T Y& AT g

eIRaT & Sf7d € e s

HiordT § arear fiud 10
Tell § E61 g3 TR

IR ST &1 ETelt g et Wel § 91
ST AT TR

5= gt T a1g fo=T1 T At Wi & Wied &1
X AT SHHTre
IRARIR TG R AS

TSN E

T g1 O R SHHABTAT

TG W PO T ®

A PO I T3

g1 Wi T HRET gl

T &1 ot & gt o Sirelt 8 g
S T BT T UGS B Al §
Y ARG BT T US| B AT §
319 B IUTY b B AT We@eT3il
3R gt

HITIE 8 a1 IR?
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JHY 9gd HH & gk U

3T =l UT=1 3BT 31T 78T 3hT

MG YHR A B3 UM HW U ¢ B

3T TTT gEriwr o1 tgdR - g 9T 91al U= 1 IR Jarst|
TRH: T3 THA gD H A T TGATd 3T 82

1. 3980 A PIs el

2. WA AFH S oA ¢ |

3. 98 g™ & 9I1d g |

4, 9% TSh 5 W g

Correct Answer :-

« T3 BT & o1 |

25) 33 -¢ §9d §A1P |

g1 IS T 38 § TA-T T

T SR T Y ST §

efRaT ¢ oI & R e

Hiorar § arear diud 1 s
WIoTdT § 38T g3 TR

3R e &1 @Telt gH e wRT A 91
g UTgH

R &t 7T a1g 31 ¥ 91 g & Bied BT
TR YT SHHTTAT
IRARIRTEF WAD

qASAR

T GY TR 3T SHHABTAT
TRIAA PO TS

A PO U T8

Tt W BT WA T

T &1 ot & QR o wirelt § g
S T BT I UdSS I el §
SR SRIRG T T YT Pl AT §
39 g1 UM & TR GRATeT Wedersn
3R got
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UG 8 9l W2

Y 9gd H & TR U

3T =T UT-t GET 3T QT BT

TGS AR A HIS UM SR A ¢ B

3w ¢ ueriwr ) vewR R YR 9H 91e WRA &1 Ik Jarsel
W=: 39 Biadr #1975 e ot oiv da frar 22
1, Il URad

2. GG DI HHT

3. W A Y PIs e

4. AT 3R RIS TGAId

Correct Answer :-

. OV 3R 3RTSIP Feard

26) 39 ¢ A 3T A

8T 3 & @ § 18- HT

T 3R TRAT Y& ST §

eI ¢ iTd & R frema

T § aredl fiud H1 s
GIoTdT § 68T g TR

3R ot o1 @Teft g et oigT | a1
T aT g

5= gt I a1E fo T T a1t Wi & Wied &1
W YT ghHfT
IRAVWIR T RIS

TAGATR

T 31 TR 3T SHAPTAT

E1 I $O I V@18

HEEER R

g1 fal BT W T8t

T &1 ot & gRreit s wirelt @ gfvvan
S T BT T UdHS DI AT g
Y ARG BT IT US| B AT §

319 g1 IUTY b &R AT @Wewersh
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SR ot

FT T AW

TG 959 9 & TN UK

3T <1 YT &7 31T 8T 3(pTH

TS THR A BIS UM SR I 3G X

AT T eI B vgHR Y U WH aTd R 61 Ik Ja1su|
WH: G AT 916 fo=1 WiaTd 18 & ®Ied &1 W fda-1 a7 412
1, GO

2. YA

3. 9gd Sl

4, 9gd BT

Correct Answer :-

27) 9 qHA gTh q

el A 79 78 & -1 v

T SRR TAT Y& ST g

e ¢ 1T & R

Hiorar § arear fiud &1 0s
WIIdT § @8T oM TR

3R T &1 @Telt gaeT wiet 9§ aTd
EERIKIEE)

O &t T a1E fomTT W1 91 Wie & Biesd &1
HR AT g
IMARIR TP RIS

TASATR

T g1 R 3T SHHABTAT

TR A FB TS

AT FO TC T8

gl Wi BT R TE)

T 8 o & gt ws ot @ g
S aG BT I UASIS I AleT§
I SRIRG T T UTSY &t AleT §
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3(q YET IUT fob g SRaTelT Wewersi

3R gt

HITIE 8 91 IR?

THY 959 B ¢ TR U

ST TIAT UT-t TBT 31T TFT BT

A THR A BIS UM SR A S B

fow U ueiwr #) yeeR R IR 9F 91e WRA &1 Ik garsel
U=: U1 9 O I 3R PO U ¥ET ¢ SAIY [PaehT HIWT 51 (bl Il HPhal?
1. B &1

2. fd &1

3. T BT

4, Sfaq &1

Correct Answer :-

28) $9 ¢ 99 3T H

g1 AW & T@ & -1 Wb

T SR IRT Y& ST §

e ¢ oiTd € QR v

Qe § aredl Niud $1 s
Qo § €81 g3 W

IR T &1 @relt gwreT Wigl @ a1d
T T 5

5= gt 9T a1E foT T At Wi & Wiesd &1
TR AT g T
IRAR IR THFRED

qAGATR

T QY TR 3T SHHABTAT

TR FB ST

A FO UE BT 8

gl Wi &1 W T

T g 7 4 wreft ug ot 8 g
T T BT I UAS B AT §
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S ARG T T WIS P AT §

39 Y5t U i g gRare Wewersit

3R gt

FTTE ¢ TR

YUY 9gd P & TR I

3T I T €T 31T T5T P

TG IR A HIS TgaH SR I 38

3T TT uriwr &1 ugwR A Y@ 9 aTdt URA &1 IR Jarsu|
TH: 3 & $fd & U T SN IF W1l 52

1. B &AM Pl G &1
2. IO TIE o &I

3, B & BT
UGN CEED]

Correct Answer :-

. W RAS Pl WeHeH @I

29) 9 L qHd gD d

RIS & 7@ © T4 Wb

T TR AT Y& ST §

ET ¢ 9T § R R

Hiorar § areal fiud &1 39S
WIoldT § ¢8T M TR

3R ol 1 ETeft gh ST oTeT | a1
g AT gH

5 &1 AT a1g fo=1 {1 a1dt 18 & Bied Bi
W YT gHATTm

IRARWIRTH WIS

TAIATE

1 G TR AT SHABTAT
RN FB TS

AT FO IS/

gt Wf &1 W T8

T 8 7 & et us ol @ g
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SR G BT 7T UdISTs D dlel g

Y IR BT 7T YIS B AT R

319 FE1 SU % &3 e Wewersdt

3R g@t

FIT I AR

YUY 9§d 9 & RN U

3T TSAT UT-T ST 31T I5T 3BT

MG YR A BIS UM SHUR I 3G Y

T T uEriw @1 yeHR A U 9T 9Tel U= 61 IR Ja1st|
= Tud & US $ a1H & TopTd 916 Hia MR FIT Tierar 82
1, TG

2. GBI G|

3. fRIgen=

4, FHI G|

Correct Answer :-

30) 39 EIUd P |
g1 A & Te & T4-Td Wb
T SR I Y& ST g
oraT § W1d 8 R e
FioldT § arwdl fiud &1 Us
STl § @81 g3 W

3w 1 @Telt g et Sigl @ aTd
SRR

5= g 7T are fom T W1 a1 8 & BIed 31
TR AT gHUTTAT
IRAWIRTE RIS
TAGATR

T g1 O AR SHHABTAT
TR AT FB TS
REEERCNIE

Tl Tqfa BT W et

Page- 34



T g1 137 o gl us Wil @ giqan

SR T BT T UaSTS &1 diel §

Y ARG BT IRT US| B AT §

319 g1 IUTY fob &R GRATST Wewerai

3R got

RIS 8 a1 TR?

YUY 950 B9 & TR I

3T IS UT-1 8T 31T 5T S(hTH

MG ISR o HIS TeaH SHUR I 36 I

3T v uerizT @1 vewk iR U@ 9H 919 WA 1 IR aarsel
T: TPId $id, T o faT A A givrar 4t 81 oIl 32
1, Jorcil

2. QRHT

3. UheH T8

4, HTail

Correct Answer :-

Topic:- General English(L2GE)

1) Complete the sentence with the suitable pronouns.

Srikanth was tired of _____ failed businessesso _____ decided to call ____ quits.
1. their, he, them

2. my, we, them

3. his, he, it

4, its, he, it

Correct Answer :-

« his, he, it

2) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
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Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

What does the word *puzz/ing’ mean in this context?
1. Creating puzzles

2. Thinking

3. Causing confusion

4, Making noises

Correct Answer :-

¢ Causing confusion

3) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

Alexander Thom'’s perception of the Stonehenge was that it is:
1. A cattle pen

2. A site for scientific discovery.

3. A sort of a solid math problem

4. An architectural monument of great worth.

Correct Answer :-
¢ Asort of a solid math problem

4) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
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Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

Today, the Stonehenge is:
1. A palace

2. A prehistoric monument
3. Atent

4, An altar

Correct Answer :-

* A prehistoric monument

5) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

This passage talks about:

1. Alexander Thom
2. Stonehenge as an altar for human sacrifice
3. The measurement of triangles

4, Why Stonehenge was built?

Correct Answer :-

¢ Why Stonehenge was built?

6) Read the poem carefully and answer the question given below:

Language
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A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The figure of speech in "when asked why this wonderful wonder” is:
1. Simile

2. Personification

3. Onomatopoceia

4, Alliteration

Correct Answer :-

o Alliteration

7) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Page- 38



Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?
He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The synonym for “berserk” is:
1. Strange

2. Crazy

3. Confused

4. Angry

Correct Answer :-

8) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.

When asked why this wonderful wonder?
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He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

“Fiery spirit” describes the fish as:
1. Active, energetic and lively

2. Hot as fire

3. Boring and dull

4. Serious and easy angered

Correct Answer :-

» Active, energetic and lively

9) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”
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A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

In the last stanza of the poem, the fish is compared to a
1. plant
2. beautiful carpet

3. group of animals

4, flowery decoration

Correct Answer :-
« flowery decoration

10) Read the sentence carefully and choose the option that has an error in it:

When Gopal opened the cage, the parrot came out and perched in his shoulder.
1. No error

2. the parrot came out and perched

3. When Gopal opened the cage,

4. in his shoulder.

Correct Answer :-

¢ in his shoulder.
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11) Fill in the blank with the correct option in the given sentence:
The river appeared --canny to the poet.

1. re--

2. in--

3.ill--

4, un--

Correct Answer :-

12) Fill in the blank with the correct option in the given sentence:

The company used one of its ex-employees as an ______ for the seminar.
1. assessment

2. assess

3. assistant

4, assessor

Correct Answer :-

e assessor

13) Fill in the blank with the most appropriate preposition in the given sentence.
She wanted tobe __ friends.

1, across

2. between

3. among

4, below

Correct Answer :-

14) Choose the most appropriate articles in the given sentence.

woman was seen driving away in black car.
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1. An,a
2.A,a
3. A, an

4. No article required, the

Correct Answer :-

15) Choose the right tag:

Sita comes to school regularly, ?
1, is she

2. wont she

3. does she

4, doesn't she

Correct Answer :-

« doesn't she

16) Choose the option that substitutes the given phrase appropriately.

The rule of a king or queen
1. Democracy

2. Monarchy

3. Plutocracy

4. Despotism

Correct Answer :-
« Monarchy

17) Change the given statement to indirect speech.
She said, "I am listening to music nhow”
1. She said that she listened to music then.

2. She said that she will be listening to music now.
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3. She said that she was listening to music then.

4, She said she would listen to music now.

Correct Answer :-

» She said that she was listening to music then.

18) Choose the appropriate suffix that forms a noun in the given sentence.

The principal gave him a good testimon-- when the boy left school.

1. --ies
2. --ation
3. --ial
4, --ials

Correct Answer :-

o --jal

19) Choose the appropriate prepositions for the given sentence:

There was plenty
best the actors.

laughter the film sets while the director was trying to bring out the

1. of, on, in
2. of, from, among
3. in, in, for

4. to, at, on

Correct Answer :-

20) Choose the appropriate antonym for the highlighted word in the given sentence.

Why didn’t you respond to my call?
1. Answer

2. React

3. Reply

4. Ignore
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Correct Answer :-
 Ignore

21) Choose the appropriate conjunction for the given sentence:

I faced difficulties I was successful.
1. but

2. and

3. which

4, that

Correct Answer :-
e but

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Assam grows Tea.

1. Teais grown in Assam.

2. Tea is being grown in Assam.
3. Tea is grown by Assam

4, Tea has being grown in Assam

Correct Answer :-
e Teais grown in Assam.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Grapes well in tropical climates.
1. don't grows

2. did not grew

3. are not growing

4, doesn’t grow

Correct Answer :-

o don't grows
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24) Choose the appropriate synonym for the highlighted word in the given sentence.

After a few years of romance, the courtship between the celebrities faltered.
1. Fluctuated

2. Became stronger

3. Flattered

4, Grew weaker

Correct Answer :-

o Grew weaker

25) Choose appropriate articles for the given sentence:

Itwasdusk by  time wereached  Cape Town,oneof  most beautiful of world’s cities.
1. a, the, the

2. a, no article required, a

3. no article required, the, the

4. the, no article required, the

Correct Answer :-

« the, no article required, the

26) Choose an appropriate modal for the given sentence:

Our competitors be mistaken if they think our supervisor is going to join hands with
them.

1. ought to
2. should
3. may

4, must

Correct Answer :-

27) Choose the option that best explains the highlighted expression:
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We had a ringside view of the boxers because our seats were three rows from the ringside.

1. A place very comfortable to obsequies the actions of the play
2. Clear, uninterrupted view
3. An area ringed around for special purposes

4, A closer look at the stadium

Correct Answer :-

¢ Clear, uninterrupted view

28) Choose the option that best explains the highlighted expression:
Some people have a habit of wearing their heart on their sleeve.

1. exposing their innermost feelings to others

2. saying something which is not to be taken seriously

3. always trying to gain advantage over others

4, avoiding being friendly with others

Correct Answer :-

« exposing their innermost feelings to others

29) Choose the option that best combines the given sentences.

He finished his breakfast. He washed the plates.
1. He finished his breakfast and washed the plates.

2. He having finished his breakfast and wash plates.
3. Having finished breakfast, the plates were washed.

4. He was being finished his breakfast to wash the plates.

Correct Answer :-

« He finished his breakfast and washed the plates.

30) Choose the option that best transforms the sentence into its Indirect form:

“"What shall I do next?” the little boy asked his mother.
1. The little boy told his mother what he should do next.

2. The little boy asks his mother what he shall do next.
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3. The little boy said to his mother what | should do next.

4. The little boy asked his mother what he should do next.

Correct Answer :-

¢ The little boy asked his mother what he should do next.

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz. It is equivalent to: /

TP T § I a9 DI 3MGHRT 50,000 T (Hz) 81 T8 =1 & T 8-
1. 5kHz / 5 fardiigest

2. 50kHz / 50 foraiigest

3. 500kHz / 500 fopagest

4. 5000kHz / 5000 farargest

Correct Answer :-

. 50kHz / 50 fpdigds

The following are the pH values of some commonly known solutions:

Substance. pH walue.
Acid rain 3.6
Gastric juice. 1.0

Lemon juice 23

Tomato juice 4.1

Which one of them is the most acidic? /

ﬁmﬁﬁagﬁﬁmﬁmé?p}lm%:

geref. droa g=
e 5.6

STHT T 1.0

ofig & 2.5

THIEY & T 4.1
5aF § BT gay A% el g7

1. Acid rain / 3% o
2. Lemon juice Fﬂqwrw

3. Gastric juice / THIRIA XY
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4. Tomato juice / CHICX DI

Correct Answer :-

 Gastric juice / STHIRIF IH

3)

The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

e aar g-"HT A Uk Al g% & A g A 856 X 3R v & A w
gullar &1 eafafaa & & Fiaar s o §?

distance

L J

time

1. X takes more time than Y to cover a particular distance. /

T AT e & R x & v 3 1% Tra @ g |
2.'Y takes more time than X to cover a particular distance. /

S A & Pl g e & e Y &1 X ¥ 3if¥s w9g arar s |
3. Bike X covers more distance than Y. /

ISP X, TRH Y DI 0er 3HfH gt a9 Fel g
4, Bike X moves faster than the Bike Y. /

TSP X, TSP Y B 3U&T 31 ol B

Correct Answer :-

« X takes more time than Y to cover a particular distance. /

S RA @ B g o & R X & Y ¥ 31f¥% Hg arar g |

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the position
of crane is: /

CRIREEIC) WFIT o ara (av_"l'), UlqU Wdd (phyto planktons), ¢SS 3R AWl %;,
-1 D1 FRYf gIl-

1. I trophic level / I Eﬁm X

2. 11 trophic level / II Uif¥ehdl TR
3. I1I trophic level / III Gif§ear &R
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4. 1V trophic level / IV Uif¥edr TR

Correct Answer :-

« 1V trophic level / IV TifPddl TR

5) To teach diverse, difficult to understand concepts in science, a blend of text,
audio, animation, video, still images or interactivity content forms can be used.

This method is known as:/ﬁﬂﬁﬁﬁﬁﬂ,mﬁm SAYR3 B
UeH & fog, doRe, Sifean, eivmiwe, difsal, RR ofaal & fyorar
emmgﬂww—mﬁmmmmmﬁlwﬁfﬁﬁ
gl SIdT &

1. Information and technology communication enabled learning / Jd-I 3R

W TR e fftmm
2. Multimedia approach /qﬁmm

3. Documented problem solving / ORI T THTT

4, Video clips / difga faeu
Correct Answer :-

« Multimedia approach / Ao HIfSaT I

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius
of curvature of the mirror will be: /

1Y # TP I GUUT DI AT GETS (focal length) 15 T &1 19 3 U H FTAT ST &,
U1 & gepal &1 Har s

1.30 cm/ 30 T
2.7.5cm/ 7.5 A
3.45 cm / 45 99t

4,15cm/ 15 I

Correct Answer :-

« 30 cm/ 30 I

7) Lightning conductor is a device used: /
afST ATeId (AT HSaeR) Th IUBIUT P STIHTS BT SITdT &:

1. To protect the buildings from the effect of lightning /
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SR Dl died & UHId I g & folg

2. For communication purposes /
SEINCEISEICARLY

3. For forecasting the forth coming lightning and thunder /
ST AfSd SR TR (USR) &1 GalqAH T & forg

4, To store the electric charges produced at the time of lighnting /

df$d & wAY Idifed faqgd Siasil @ ufed B & g

Correct Answer :-

« To protect the buildings from the effect of lightning /

ARG & dfed & UHTd ¥ §9 & forg

8) Which of the following contains more roughage? /

fFrafafaa 9 fead et derarr (roughage) fafea ﬁ—cﬂ %?
1. Fish / #odll

2. Milk / gY

3. Leafy vegetables / xR Hfesal

4. Meat / A

Correct Answer :-

« Leafy vegetables / TAgR Hfesrr

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands on
them because: /

UG DI YT P e IR AP sl &I U &I ga-T 6 SAfiw ST USG5 d 3T U
BTUT D1 39 R IWT RIfb:

1. Wood conducts more heat energy than metal plate. /
THSY, YT P W DY gaT B YD STAT SHoll hT FaTe- Bl g

2. Her body temperature is less than the temperature of the wood and greater than that
of the metal plate. /

IP IRR &1 AMTHA dbs! & arad= I HH 3R 41g & e § 34fF 3

3. Wood is more hotter than a metal plate. /

AP S, T Bl T b gorT § 31 T Bt 21
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4, Metal plate conducts more heat energy than wood. /

U & W, Ah el Bt gal § IS ST SHoll BT Tare Bl gl

Correct Answer :-
« Metal plate conducts more heat energy than wood. /

U] & W, Ahal Bt gal H IS ST SHoll BT FaTe Bl gl

10) Proteins that regulate all chemical reactions of the body are: /

WA S IR 1 Wt It sififranst &) e o &
1. Blood / ¥dd

2. Lymph / AITRT

3. Hormones / 10

4, Enzymes / TSlIgH

Correct Answer :-

. Enzymes/Q\_rl'lSﬂ

11) Which of the following motivates a learner to learn? | FafaRead a
DIF-31 T & forg uep Rugmdf o1 ufva wrarg?

1. Interest in the topic / o & Sfer

2. Repay / A0 @31 (RT)
3. Lots of homework / 3% W
4. Easy questions / ST {dTcl

Correct Answer :-

« TInterest in the topic / faUT T S

12) Kelvin is the unit of: /
1. Pressure / GdId
2. Temperature / dTUHH

3. Heat / $HBHT

4, Humidity / 3T
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Correct Answer :-

« Temperature / dTUHIA

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning
of the vehicle.

Which one of the following acids is used in such Batteries? /

TN a6+ & PP & Y fagga ot it smyfd H1 & forw sl @« ot
S3EET) BT AT HRA 2 |

T UPR P 9l # g & A SI9-97 3R ST T4 fHar Srar 82

1. Phosphoric acid / PIPIR® 3

2. Acetic acid / URIfCH 3%
3. Hydrochloric acid / gﬁm 3T
4. Sulphuric acid / W ST

Correct Answer :-

+ Sulphuric acid / W STRT

14) Choose the incorrect statement among the following. /
frafafaa 4 9 o HU= o1 999 31|

1. Metals are electropositive in nature. /

o1 U fa H fIgyd o= 8id |

2. Metals are sonorous in nature. /

oTd Yo | ea1fie Bl ]

3. Metals reacts with dil. acids to produce hydrogen gas. /
BISSIoM 11 B STGH 3 & [eTd YIS o ST & A1 Ao Bt € |

4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

S 41 SfiIor & W1 AR Bl ], I SHTaIEs o1 fAufur gYar g | o e S et

foTeTy T gl SIaT 2|

Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

S YT TR & W1 SHfNThaT Bl §, 99 Mags & U glar | | o i S e
ferery arer g1 ST g
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15) Identify a non-metal which has metallic lustre: /

I YT B Ugd B, R unfae 99 il 8
1. Phosphorous / T IRY

2. Todine / 3G

3. Sodium / AISTH

4, Sulphur / HethX

Correct Answer :-

« Todine / TS

16) The device fitted with an automobile to show the distance travelled by it is called: /

1T GIRT ATAT B 5 g3t B =11 & e fory 31 &) fibe fovan smar 8, S& wer wiman &:
1. Speedometer / TIBHIER

2. Odometer / SSIHC

3. Lactometer / QIdCIHICR

4, Hydrometer / © 33“31'3?

Correct Answer :-

e Odometer / &ilgl e

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and
the other is concave. If the two lenses are kept in contact, then what is the focal length of this
combination?

&1 o H O YS & UTaR BT URAT0T 2D 81 39l 6 O U 30d § SR geRT oaad gl afg
& O B AUd B I 1 g, Al 3 WIS P Bibd daTs fhasl 82

1. Infinite / 3Id
2. Zero / R[U
3.4

4.2

Correct Answer :-

« Infinite / 3Fd
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18) The credit of green revolution in our country goes to: /

TAN 31 & gia wifa &1 47 S 3

1. Dr. V. Kurien / ST. dI. @m:[

2. Dr. H.G. Khorana / SI. @Gﬁ TR

3. Dr. M.S. Swaminathan / ST. TH.QH. WHMIYA
4. Arya Bhatta / 3 Hs

Correct Answer :-

« Dr. M.S. Swaminathan / ST. TH.UY. WY

19) The magnetic effect of electric current was first observed by: /

faega YT & YaB g TUTd B AU 9P gRIT Wféra foar mar
1. Andrew Ampere / Q@FLW

2. Alessandro Volta / Qﬁ@@ dleel

3. Hans Christian Oersted / 89 foh {30 38

4, Michael Faraday / HIg® <l e

Correct Answer :-

o Hans Christian Oersted / %7\‘:[ ICIBRE Ne

20) The strength of the sea breeze depends on: /
I 891 91 Ueisar 59 W vk st @

1. The temperature difference between the land and the ocean / '1-‘[&[ IR Y Ha o YA & o &
SR W

2. The direction at which it blows / W a%ﬁ CANCRURCT

3. The level difference between the ocean and land / HH% 3R H&l & TR & o B SRR

4. Amount of water vapor present in the atmosphere / dIdIdRUI | Haluj\d SICTaTST P {1 TR

Correct Answer :-

« The temperature difference between the land and the ocean / 31[&[ 3R TH% o YA & oI &
HR W
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Ve T e B e T
1. Kelvin scale / e hdl

2. Celsius scale / SR Thdl

3. Richter scale / RaeR Tpd

4. Romer scale / JFR Whdl

Correct Answer :-

« Richter scale / ¥ae Thq

22) An electrical cell has: /

% fAega Aa A g1a &:

1. Three terminals / T SiH_d

2. Only one terminal / $Hdd Th i
3. No terminals / ﬁ‘a‘ Eﬁ&lﬁ :I_t‘?f

4, Two terminals / Q1 9

Correct Answer :-

» Two terminals /a Eﬁ-i:i(_‘l

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the element.
/

TP acd 'X' T 4 S 3R 3 Ui &1 9 & TgT TAISwdl &1 uga He |
1.4
2.3
3.2

4.1

Correct Answer :-

24) Pick the odd one out. /

TP faun g
1. Air / &dl
2. Mixture of sugar in water / 13|17'ﬁ f[ w CAREE IV
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3, Mixture of oil in water / T § dd 1 {907
4. Cold drinks / 2fld O

Correct Answer :-

« Mixture of oil in water / TT- H oel T f&0r

25) When the force is doubled and the area is halved, then the pressure will: /

S 6 RAT S foaT ST & SR &swa S = f&ar wian 3, af gra:

1. Be doubled / TR 81 STRITT

2. Become one fourth of its original value / 30 dRIfd% A Bl Udh E%I?JTEC E?f SR
3. Become four times its original value / 30 dRdd® A BT IR RGI _E?f SR

4. Be halved / 3MTeT g SIRATT

Correct Answer :-

« Become four times its original value / 30 AR deh HIH T IR RIGII B SR

26) When a paste of starch is added to boiling water, the type of system formed is: /

9 HE (starch) DT TH U ITAd U § STAT SIT€T &, df 9= aTeit YUl 1 PR &
1. Colloidal solution / BISS A fAcTT
2. Suspension / [BRER]

3. True solution / ARIdP AT

4. Dilute solution / T fa@ia

Correct Answer :-

« Colloidal solution / PSS d faea

27) When carbon dioxide is dissolved in water, the solution turns .
g HIe SIS S UM A gasar g, difdqad geadars|

1. red litmus to blue / AT feTeHY &I et &

2. blue litmus to red / e ferem iy &I aret A

3. no change in the colour of litmus / INCERERUR ﬁ’iﬁ Uﬁﬂ?ﬁ :|_E>p[

4. into a yellow colour with methyl orange / I SRS & 1y Uil [T H

Correct Answer :-
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« blue litmus to red / =iIdl foleq ] &1 @1d H

28) Which one of the following is the appropriate unit which is used to measure the volume
of Refined oil taken in a container? /

el # & P9-91 Suga 318 ¢ e 76T T U # ufiispd 9a &Y aE St
AR & fore foram Sirar 82

1. Kilogram / fearm
2. Nanometre / “F1HIeR
3.gm/L/ UM /AR
4. Litre / Qle}

Correct Answer :-

. Litre / e

29) Which of the following is not a shell fish? /
fFfafaa d ¥ F9-91 FaaUrRt 73! (shell fish) Tal 82

1. Crabs and bobsters / B ST MR ST

2. Mrigals / HITd
3. Oysters / Gﬁ%ﬁ?
4. Octopus / 3G TTH

Correct Answer :-

+ Mrigals / HITTd

30) Which of the following is an example for diffusion of a solid into liquid ? /
frafifad & § $19-91 31 3T Ia § T9R T TS 38160 82

1. Ink into water / O § 181

2. Carbon dioxide into water / T H SBTa ageﬁaﬂsrs’

3. Oxygen in water /Ot SRS

4. Copper sulphate into water / O | BIR Tathe

Correct Answer :-

» Copper sulphate into water / T H HIR Fbhe
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31) Which one of the following solids is used as a drying agent in bottles containing medicinal
tablets? /

Frafafaa 3 @ fra 31T &1 v siwedta Mt ara daal § 6 I a1 SR$1 & =0 § fear smar
22

1. Calcium carbonate / BCITH PIEMC

2. Sodium hydroxide / Mf&aH EHEEVTEFHEE

3. Quicklime / fSFTTgEI AT
4. Silica gel / fferent S

Correct Answer :-

« Silica gel / Rifcr@T i@

32) What kind a learner is a child who seems to learn best when carrying out a
physical activity related to the subject? / dg d=l fod avg o1 Rrem Qﬁfﬁ?ﬂ %’
ot fordt fawa & TefRa ifos ol &) $3d gU 999 ST ATar g2

1. Visual / €Y (ﬁﬁﬁiﬂ)

2. Aural / U (3{XQ)

3. Kinesthetic / TTicgda] @m

4. Reading/writing / PER/GECR] (ﬂ%ﬂﬂl’a‘ﬁ'ﬂ)

Correct Answer :-

. Kinesthetic / TTicda] @Eﬁm

33) The chemical name of washing soda is: / GTIRIRT ST T IS 9 &
1. Sodium carbonate / DSTH BTE T
2. Sodium hydrogen carbonate / ifeaq 6I$§\I\J1"| BT

3. Sodium hydrogen sulfate / qifsaq 6|$\§\|U1"| qJhe

4. Sodium sulfate / AITSTH Jethe

Correct Answer :-

« Sodium carbonate / oifsag W@ﬁ?
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Which of the following are the objectives for science education at higher
primary (V, VL, VII) level? / 3= UTYfA® (v, VI, VII) TR & Rueor faenfday
& fore Fofafeaa § A s s SERu 3°?

1. Observation, induction and deduction. / ﬁﬁ&‘I'UT, S{THA G'ﬁT IGUEE
2. Knowledge, comprehension and application. / I, JHEI 3R W"T

3. Receiving, responding, valuing and organization. / 3T TR, Qﬁﬁ'ﬂ:ﬂ, W
3R T3

4. Receiving, responding and valuing. / SIS, ufafehar 3R W

Correct Answer :-

- Knowledge, comprehension and application. / 3T, JHT 3R @Iﬂq&hﬂ

35) Which of the following cannot be used in mixed cropping? /

Frafafea & & feweT Sua fafta waa & 81 fovar o e g2
1. Ragi+ mustard / AT + Rl

2. Wheat + gram / ﬁ_ﬁ + -1

3. Wheat + mustard / ﬂ_§' + T4l

4, Soya bean + pigeon pea / IS + 3RE Bl ard

Correct Answer :-

« Ragi+ mustard / It + gt

36) Tracking the learning process during the instruction period is

which type of evaluation process? / 3iftRTH ufshar P A safy &
IR TP AT 59 UPR BT Yedich=T ufepar 82

1. Formative evaluation / 3O Hedidh-1

2. Summative evaluation / TR b

3. Placement evaluation / R Hclh]

4. Diagnostic evaluation / ST Hedidh

Correct Answer :-

. Formative evaluation / 3NTATR® Heih
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37) Curriculum is a complete plan for of educational aims. /

Rfeure Iexal & % fore ureusw T gut aiw T 81
1. implementation / PHAFaTT
2. understanding / HHIA

3. evaluation / el
4. visualization / Ul

Correct Answer :-

« implementation / ERIESLE]

38) Crop rotation is a practice to grow on the same field. /
T 3(ad (Crop rotation) T &l AgH # IUSIH F ufshar 21
1. two or more crops together / &I IT Gl H 3% Tod U H1Y

2. two or more crops in definite row pattern together / CIEGRIES U o ararel ¥ 3 wad T
a1y

3. all the above / SWRIad g+t

4, a leguminous crop between two cereal crops / ﬁ 3T daTel! BHal & o Udh thefglR thdd

Correct Answer :-

« a leguminous crop between two cereal crops / &l SIS aTell /ol & o Udh IhclqR thdd]

39) One of the statements made about consumers is incorrect. Identify the same. /
IuHIETS P oy § U $UF Teld &1 SHB! Ugdrd I |
1. They cannot manufacture their own food. /é 3 WWWH@WWI

2. Chemical energy is obtained from outside. / ARID Soll dTgX T YT HRd %l

3. They do not have chlorophyll. /quﬂfﬁﬁﬁ om“|€||'fr>c1) el s\ldl %) [
4. They take in CO, and give out O,. / d CO, Ugll Hd & U 0, Blsd gl

Correct Answer :-

« They take in CO, and give out O5. / G CO, Ugll Pd % Td 0, @ﬁ?:ﬁ %I

40) One of the processes that involves the consumption of CO; is: /
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CO, @I wud ¥ =mivra ufspans # ¥ us 3:
1. Forest fires / SITTICT I [T

2. Photosynthesis / UDIR] LRG|

3. Respiration / Y

4, Combustion of substances / tl‘q"lﬁ dl qe

Correct Answer :-

« Photosynthesis / TTRI TXHUT

41) What is meant by intervarietal hybridisation? / s'a?‘dféa?-r IHT (m
grsfafesierT) o1 o of 82

1. Crossing between different genera / T SIFRT o6 & ShiriT

2. Crossing between different varieties of plants / urelf ot fie-fe foret & g i

3. Crossing between genetically dissimilar plants / 3TEfRIG 0 I SHM Qe & S BT

4. Crossing between two different species of the same genus / T &I S99 & & fHF-1Y venfaal &
ST BRI

Correct Answer :-

« Crossing between different varieties of plants / urelf ot fe-fie foreat & e i

42) What is the literal meaning of the word “Science”? / "ﬁs‘“:l'" o DI 'Q]Tm 3
1 8?

1. Experiment / TN
2. Knowledge /

3. Wisdom / §@I|T'|T
4. Logic / ab

Correct Answer :-

« Knowledge / I

43) Three resistors of 12 ohm each are connected in parallel. This combination is
connected in series with a combination of two resistors of 3 ohm each in series. Find the
net resistance of this circuit. /
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TAD 12 31 (ohm) & 1 UFRRIYS JHMIOR ¥ A J$ gU &1 I8 Tio g9ar # Td®
%ﬁaﬁn%auﬁﬁ%ﬁ%wﬁq%wuaj@wﬁwﬂﬁl 39 URUY BT Y TR I
|
1.10 ohm/ 10 3i/F
2.5.5 ohm / 5.5 3|
3.42 ohm/423ﬁﬂ

4. 15 ohm / 15 39

Correct Answer :-

« 10 ohm/ 10 39

44) Ability to define an event in one’s own words and language is an indicator of : / w

e &I fHd & 3 g iR YT & uRUTRG H3A & &rwar 3961 Th GIF 3¢
1. Providing explanation / TSI 0T U BT

2. Communication skills / TR HIIA

3. Value/Attitude / H\F{f/ﬂﬁ?{ﬁf

4. Experimentation / BT

Correct Answer :-

. Communication skills / IR ﬁw

45) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /

T Y TaE $ = Pra- gR1 T gy go oY Srel Il ST @:
1. Charcoal / IR

2. Coke / B

3. Petroleum / USIfergd

4. Coal / BITaT

Correct Answer :-

« Coal / BITAT

46) The near point for a normal eye is at a distance of: /

TP T A $ e free fig ot g8t &
1.30 cm from the eye / = ¥ 30 IHT
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2.20 cm from the eye / 3 & 20 THT
3.25cm from the eye / 79 ¥ 25 9

4. 23 cm from the eye / =T 23 9

Correct Answer :-

« 25cm from the eye / 53 ¥ 25 AT

47) CANCELLED

If the momentum of a body decreases by 20%, then its kinetic energy will decrease by:/
Tfe TP 9T BT AT 20% °T ST &, a9 I ol SHoll HH gl Sreaft:

1. 40%

2. 18%

3.36%

4, 8%

Correct Answer :-

. 36%

48) In accordance with Dale’s Cone of Experience, which of the following media can help
a student to retain about 30 percent of his learning experience? / A F B B

TG & R, Fafefaa & @ #1991 areaw v o &) 39 AR srgua
W 30 Ufa=Id $t gfauia w1 § Ueg H gPHdl 82

1. Youtube / YIS

2. Orkut / 31V|?§E
3. Google Plus / 1[ITel Wiy

4. Radio /3f&an

Correct Answer :-

« Youtube / YR[d
49) A doctor uses a for examining the ear of the patient. / Tdh ] ok
A & BT BT g B & ¢ TH $T IUGHT BT B

1. concave mirror / Addd E{CYUT
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2. concave lens / 3[ddd g
3. convex mirror / 3 E'd'UT
4, convex lens / 3dd éﬂ

Correct Answer :-

« concave mirror / Addd E"CFUT

50) The two forces acting on a body which is floating in a liquid is: /
TP avd Uerd # dv= arell 9¥g TR HTH $H aTelt of 99 &
1. Buoyant force and frictional force / 3Tddh §¢T 3R s

2. Gravitational force and buoyant force / WGTUT I 3R ITH I
3. Gravitational force and frictional force / Wﬁfm I 3R TN g

4. Buoyant force and centripetal force / SaiIdd Td 3R 3BT I

Correct Answer :-

« Gravitational force and buoyant force / WUT TG 3R ITATP T

51) The characteristic which helps us to distinguish one sound from another

sound having the same pitch and loudness is ./

fa=ivar 3 =it e% g fir ok JHH WR $ SHa1s a1 U |9 B e
g q 3k Uga - § Heg Pl ol
1. velocity / am

2. amplitude / 3{IUH

3. quality / TJOIddT
4, frequency/ 3MIgf

Correct Answer :-

« quality /J0Id<l

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the
mass and velocity are doubled, then find the ratio of the final kinetic energy to
the initial kinetic energy. /

ST 'm' B TP avg A 'v' & A1 T et 391 & qHiaR 3 gedl 81 afe goaw=
3R AT &I GRFAT B T ofra g, at sifaw wfast et 8k smRfb® nifast Setf &1
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ST 914 B
1. 1:8
2.4:1
3.8:1
4, 1:4

Correct Answer :-

« 81

53) The pitch of the sound is determined by: /

T o U 39 grT AyiRa & o 8:
1. Amplitude / 3TIH
2. Intensity/?ﬂa?ﬂ

3. Frequency/ &ﬂqﬁf

4. Loudness/ YUdddl

Correct Answer :-

« Frequency/ 311?{%

54) The derived unit of the physical quantity, which is the product of mass and
acceleration is: /

Wfa® U B g 3B1S, St FSIH 3R @RVl BT UG §:
1. pascal / Ulkdb ¢l

2. newton / <Jcd

3. joule / Sf¢l

4. watt / dIc

Correct Answer :-

+ newton / Jc-

55) What are the food requirements of dairy animals? /
3 uxpail @) W ARG ant 41 82

1. The feed should include roughages and concentrates in balanced amounts /
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QTey § HieT IRT G e Td sl Hgferd amm o &l
2. Fresh green grass/
CIEIESRIS]
3. Mixed feed containing dry grass, grams and other roughages /
T U, =4 3R 3= Hiel IRT gad i @

4. Nutritious feed with additives /

TS & 1Y TN @

Correct Answer :-

« The feed should include roughages and concentrates in balanced amounts /
Qe H HIeT IRT BT A1MGT T HiwsedT Hejferd 1 H gl

56) A teacher always introduces the concept of atoms with the same

example.This shows he did not consider: / T® fR1&[&® ga=m Td Bl IGIe0l G
HTY URHTY[SAT BT SIGUR &1 U= ¢a1 g1 98 fe@rar € fr su i R
ICEIES Te?rmT

1. His/her student's previous knowledge. / 3I% BH & Uz NI

2. The new facilities available to him/her. / 395 ﬁ‘m :‘I_QF ﬁﬁ?ﬂﬁ SUA %I

3. How to update his/her knowledge?/ 3T Al 37»91 3uee fhar ol[u?

4. How to keep all the students attentive? / Tt B B Ay B W2

Correct Answer :-

. His/her student's previous knowledge. / I9H B & Usa A

57) Which of the following can be used for making students independent

Iearners?/ﬁ?ﬁl’@ﬁﬁ@%ﬁﬂﬁﬁ@ﬁﬂﬁ&ﬂ*ﬁﬁ%ﬁm
forar =1 g 82

1. ICT resources / 31]3‘?“3' 1Y

2. Assignment with long answer based questions / &Td IR ST sl & 91y
gioT T ST (3rTETEe)

3. Quiz / PEIE]
4. Group discussion / W EEl

Correct Answer :-
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« ICT resources / &m—a T

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

T 2014 T, At Wafta dia aga sram=a 1 At 39d A frd el srar @2
1. Tetanus bacteria / <=9 SRl

2. Taeniasis / STl (CT3ARN)

3. Tetanus toxoid / ¢4 SIS

4, Tuberculosis / AT (E@Wﬁm)

Correct Answer :-

« Tuberculosis / J&HT (@ﬁm

59) A teacher discusses the difference between textbook theories and current
ongoing research on the same subject. This shows that: / Tdh ﬁT&I’G? Wé’f faug
TR UTSIYRAP & fgidl 3R I | 9d ¥ Y & S 3R TR ==t deel
81 98 &x1ian g f:

1. Science is tentative / T3, THIfad %I

2. Science is interdisciplinary / faQ'II*i, 3R favgs %l

3. Science is rapidly expanding / Ell%ll"l, dofl I fadR R 2Bl %I

. . R o Y Y
4. Science promotes questioning / 19311, Hdl¢] h Gal deldl Gdl %I

Correct Answer :-

« Science is tentative / Ta3IH, GHIfAd gl

60) Which of the following does not reflect features of a well-developed learning

objecﬁve?/mﬁ@ﬁqwmﬂﬁﬁﬁﬁmﬁwmﬁ
st ot ywe A8 Hear 72

1. The teacher holds tests regularly. / FR1era afia =0 T ol smaiford &edn %I

2. The teacher performs an experiment before the beginning of a topic. / fRrerep Tt

fawe 1 B ¥ Ugel U TN Al 5

3. The teacher explains a law and their uses. / 1 e AaH 3R I SUINT Bt
T HRAT 2 |
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4. The teacher uses a mix of English and the local language in class. / e wem d
SIS TR R HTST & R80T &1 I Sl B

Correct Answer :-

« The teacher explains a law and their uses. / @T&‘W Udh e 3R 39 Iy Bt
SRS Hal g |
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